Svenska Bridgeférbundet
Silver 7 GH Par 2022-08-04

Partavling, 50 bord, 100 par. Antal brickor: 42. Medel: 2057.1.

Plac Par
1 39
2 29
3 32
4 81
5 50
6 11
7 43
8 93
9 2

10 52
11 1

12 74
13 82
14 25
15 20
16 73
17 88
18 67
19 51
20 98
21 28
22 48
23 57
24 23
25 42
26 22
27 27
28 76
29 64
30 85
31 65
32 63
33 72
34 59
35 97
36 92
37 38
38 4

39 34
40 14
41 53
42 47
43 91
44 46
45 80
46 45
47 100
48 66
49 30
50 17
51 6

52 3

53 18
54 56
55 60
56 99
57 12
58 16
59 7

60 19
61 8

62 71
63 87
64 96
65 49
66 95
67 55
68 15
69 68
70 83
7177
72 84
73 86
74 13
75 58
7% 78
77 31
78 44
79 94
80 9

81 21
82 10
83 36
84 79
85 89

Poang

2451.4
2439.9
2435.0
2415.2
2401.3
2378.3
2347.0
2335.5
2318.9
2313.1
2302.5
2297.6
2295.7
2289.7
2283.2
2263.9
2243.4
2236.5
2230.7
2227.4
2216.4
2207.8
2182.5
2178.6
2173.4
2168.7
2165.6
2164.9
2160.0
2156.6
2156.1
2154.6
2149.0
2147.6
2146.9
21435
2140.0
2139.4
2132.8
2127.1
2124.9
2123.9
21114
2110.7
2108.6
2108.4
2102.0
2101.2
2093.2
2092.4
2088.2
2071.1
2069.2
2054.1
2049.0
2042.8
2037.1
2029.9
2016.7
2010.3
2005.3
2002.3
1985.5
1983.6
1982.8
1979.1
1975.1
1974.5
1952.9
1948.5
1946.6
1940.2
1934.5
1921.9
1920.8
1916.1
1908.1
1903.4
1898.9
1860.5
1854.3
1853.1
1842.8
1834.8
1833.7

%

59.56
59.28
59.16
58.68
58.34
57.78
57.02
56.74
56.34
56.20
55.94
55.82
55.78
55.63
55.47
55.00
54.50
54.34
54.20
54.12
53.85
53.64
53.03
52.93
52.80
52.69
52.61
52.60
52.48
52.40
52.38
52.35
52.21
52.18
52.16
52.08
51.99
51.98
51.82
51.68
51.62
51.60
51.30
51.28
51.23
51.23
51.07
51.05
50.86
50.84
50.73
50.32
50.27
49.90
49.78
49.63
49.49
49.32
49.00
48.84
48.72
48.65
48.24
48.19
48.17
48.08
47.99
47.97
47.45
47.34
47.29
47.14
47.00
46.69
46.67
46.55
46.36
46.24
46.13
45.20
45.05
45.02
44.77
44.58
44.55

Namn

Nils Mgnsted - Rikke Skov Mgnsted
Per-Arne Karlsson - Anna Roos

Tim van de Paverd - Castor Mann
Pierre Thunstrom - Berith Finnsson
Conny Gustafsson - Per Andersson
Bengt Bellander - Gabor Barath

Bjorn Ohlsson - Hakan Tjarnemo
Youp Caris - Stefan Thorpe

Olle Wademark - Jan Selberg

Ulla Berntsson - Ingvar Grahn

Mikael Westerlund - Bo Sundell
Anders Landmark - Leif Lundberg
Sanna Clementsson - Gunnar Hallberg
Jonas Rosenvik - Gosta Viktor

Tom Gérds - Daniel Gullberg

Per Soderberg - Bengt Alrud

Peter Forsberg - Bengt Nilsson
Thomas lvarsson - Stefan Jénsson
Eric Arvidsson - Svein-Gunnar Karlberg
Paul Jansen - Hauke de Vries

Jan Matsson - Johannes Matsson

UIf Westlin - Henry Johansson

Maria Gronkvist - Rolf Selander
Kenneth Hagman - Kjell Ohlsson
Patrik Elofsson - Goran Lidgren

Peter Huotila - Bjorn Karlsson

Pontus Silow - Erik Bergengren

Axel Selvén - Villy Havasi

Birgitta Radberg - Stefan Westlund
Erika Rodin - Johan Sylvan

Adam Kovasznay - Bengt Johansson
Bengt Larsson - Elisabeth Olsson
Anki Johansson - Rolf Johansson
Pierre Carbonnier - Jan Gutenwik
Aigars Germanis - Adrians Imsa
Sibrand Van Oosten - Luc Bellicaud
Liam Fegarty - Jamie Fegarty
Britt-Marie Warborn - Ingegerd Peterson
Thomas Therkelson - Gunnar Ohlson
Anders Freij - Bonnie Clementsson
Karin Nyberg - Géran Rydell

Andreas Skoglund - Hannu Oikarainen
Albert Pedmanson - Jasper Vahk
Elisabeth Stanley - John-Erik Hornfeldt
Tonno Vahk - Aivar Tihane

Andy Cope - Thomas Gardner

Olivia Schireson - Jacob Freeman
Goran Lindberg - Max Odlund

Eva Lena Glimne - Maud Brink

Kurt Karlsson - Jarl Hallberg

Soéren Westling - Per Andersson

Lars Kennethsson - Per Jansson
Tatyana Trendafilova - Fredrik Jarlvik
Inger Hultstrand - Gun Réhnisch
Rose-Marie Jarl - Bo Gisslander
Havard Moe - Markus Moe Hansen
Borje Dahlberg - Peter Backlund

Kati Sandstrom - Marko Ketola

Kent Maltein - Ted Olows

Andreas Westman - Patrik Eriksson
Sofia Sundstrom - Carina Sjéblom
Jan Ahlqvist - Jan Konar

Tomas Svanberg - Géran Magnusson
Jakub Dziuba - Maria Niklaus

Fredrik Andersson - Anders Blomgvist
Pim Dupont - Oscar Nijssen

Irene Robinson - Mike Huggins

UIf Backman - Sabina Sahlin

Markus Bertheau - Kathrine Bertheau
Peter Olofsson - Stefan Underdal
Lars Jeppsson - Kjell Hakansson
Sally Clark - David Wrang

Rasmus Andersson - UIf Andersson
Lennart Rehle - Roland Gyllenhammar
Mats Allgéwer - Ella Olsson

Per-Ake Jansson - Catarina Skau Olsson
Lars Andersson - Matteo Nordgvist
Karola Hogberg - Lars Lilja

Jonatan Johansson - Emma Karlsson
Joel Henriksson - Johan Hermansson
Jan Geiborg - Kenneth Johansson
Julia Borg - Allan Nouri Otman Farha
Lars Haglund - Johnny Karlsson
Ronny Schalin - Lena Schalin
Thomas Ekendahl - Barbara Ekendahl

MID
990178 990181
1246 4289
+14 58464
17974 12506
15363 13326
903 916
5648 5534
990115 +116
14800 11074
11235 5064
9690 3413
12813 20271
55629 +18
8913 3760
13002 37167
18380 4373
51490 18043
6659 13697
16417 26241
+27 +26
1239 52882
3230 31018
1076 7824
748 743
28614 10066
4317 2879
87294 51648
63229 89205
17276 13174
93303 2325
50874 1777
7391 42078
29219 11078
5538 6302
990241 990240
+109 990220
990174 990175
2783 14153
4805 5078
5548 55628
5059 13057
23392 35098
990188 990189
8807 4866
+89 990192
990176 990177
990222 990219
4339 9267
81091 82812
1579 1648
27606 17111
17074 2485
35574 4451
31088 10595
10408 51029

+3 990193
4744 244
+93 +98
15967 8281
23603 37392
53097 3382
10458 9717
62669 1123

990157 990069
200179 2823
990114 +13
990236 990237
82648 84614
57666 81089
5771 104
449 3733
990164 87080
24965 5436
6599 252
8386 20412
2714 21342
5351 67675
17222 4118
62721 58290
56963 28975
12165 11997
66497 47179
24249 20903

713 91200

17307 52284

Klubb

Danmark

Uppsalabridgen - Karlstads BK
Netherlands - BK S:t Erik
Boden-Sé&vast BS

BK Bjorken

Vaxjobridgen

Sélvesborgs BK - Lunds BK
Netherlands - NL

Norrorts Bridge
Asperd-Branno BK - BK Lejonet
BK Lyx - Storsjébygdens BK
Lulea BK

BK S:t Erik - England

BK S:t Erik

BK Bjorken

Norrorts Bridge - Bords BA
ABB BK

Uppsalabridgen - Séllskapet, Ronneby
LudvikaBygdens BK
Netherlands

Malungs BK - Orebridgen
Bollnés BK

Orebridgen

Hultsfred-Malilla BK

Skoévde BA

Uppsalabridgen

BK S:t Erik

BK Albrekts

Géavle BK

BK S:t Erik - Uppsalabridgen
Askims BK

BK Albrekts - Asa/Frillesés BK
Orebridgen

Lunds BK - Malmé BK

Latvia

NL - France

England

BK Albrekts

BK Lejonet - Askims BK
LUCK - Malmé BK

BK Lejonet

Karlstads BK

Estonia

ABB BK

EST - Estonia

England

USA - Canada

BK Lavec - BK S:t Erik
Laholms BK

Skovde BA

BK Albrekts

BK Falkenberg

Malmé BK

Orebridgen

Varnamo BK - Bredaryds BK
Norge

BK Lavec - BK S:t Erik

FIN

Sandvikens BK - Storsjobygdens BK
BK Lavec - BK Alert

BK S:t Erik - Sundsvallsbridgen
BK Lyx

Bridgeklubben Karlskrona
Poland

Uppsalabridgen

Netherlands

England

Laholms BK

BK S:t Erik

Sélvesborgs BK - LUCK
Ystads BS

USA - BK S:t Erik

Munka Ljungby BS

BK S:t Erik - Borlange BK

BK Lejonet - BK Lyx
Smedstadens BK

Norrorts Bridge - BK S:t Erik
Lindesbergs BS

BK Bjorken - Luled BK
Emmaboda BK - Bridgekamraterna Nybro
BK Allians, Halmstad - BK Falkenberg
Kalmarsunds BK - BK S:t Erik
Sandvikens BK
Bridgeklubben Karlskrona
Arboga BK
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86 41 1830.4 44.47 Leif Andersson - Anders Persson 2967 91334  Orebridgen
87 37 1828.7 44.43 Christian Bergek - Anna Bergek 92649 92648 BK Lyx
88 40 1821.0 44.24 Ann-Charlotte Tranvik - Olle Nordstrom 27165 17733  Véaxjobridgen
89 70 1808.5 43.94 Ole JJensen - Ulf Lindgren 26295 89486 Upphéarads BK - BK S:t Erik
90 69 1806.9 43.90 Christer Tdrnqvist - Marcus Sandberg 20612 7682  BK Lejonet
91 90 1804.2 43.83 Dejana Sverker - Bobbo Jovic 50940 48267 Orebridgen - BK Albrekts
92 35 1798.1 43.69 Lennart Johansson - Joakim Johansson 20178 68245 ABK Singelton, Askersund
93 33 1777.2 43.18 Tommy Hagstrom - Dan Granberg 9775 6 Uppsalabridgen
94 61 1776.7 43.17 Fredrik Norling - Hans Thormar 49212 9231 BK S:t Erik
95 62 1755.3 42.65 Sven Martensson - Ewa Eriksson 41916 80479 BK S:t Erik
96 26 1743.9 42.37 Martin Florestedt - Hakan Florestedt 8861 12666 BK S:t Erik
97 5 1720.0 41.79 Martin Lindfors - Anders Tjernvik 64085 80178 Filbyter Bridge
98 54 1686.9 40.98 Jim Nilsson - Jakob Sonden 3507 93481 Vaddo BK - BK S:t Erik
99 24 1606.8 39.04 Lena Engman - Elisabeth Karlsson 61439 39010 BK S:tErik
100 75 1524.9 37.05 Lars Hansson - Sven Olof Jern 40795 40796 BK Lyx
1 & KKn753 Bésta kontrakt 2  Kn85 Bésta kontrakt 3 4 E1072 Bésta kontrakt
Nord v8 5v O =-450 Ost v D8765 34 O =-140 Syd v K6 44 S =420
Ingen +1087 NS +E6 ov + E63
#Kn863 & ¢ v & NT #K93 & ¢ v & NT #K953 & ¢ v & NT
a- « D984 N45276 1097 « EKD63 N4 47 45 |aK 4« DKn8 N6 85 107
vKnl072 vE9654 S45276 vE9 v 102 S 4 47 45 |vEDKNn10972 v85 S 6 85 107
¢ EKN964 ¢5 O 8 8 116 7 4107542 ¢ KKn 09 96 98 |8 ¢ DKn754 075736
#ED105 #K92 vV 8 7 116 7 £D86 #E1054 V 9 9 6 9 8 |[&Knl087 D64 V75736
« E1062 842 496543
vKD3 v KKn43 v43
+ KD32 + D983 + K1092
*74 #Kn72 »E2
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
25 26 5vDO-1 a2 100 97.0 1.0| 81 82 44 O-2 v3 100 96.0 2.0| 65 66 4vDV-3 &A 800 98.0 0.0
29 30 4v O-2 + K 100 97.0 1.0| 97 98 44 O-2 a2 100 96.0 2.0| 93 94 34DS+1 vA 630 96.0 2.0
35 36 4v O-1 a7 50 919 6.1| 99 100 3N O -2 v3 100 96.0 2.0| 27 28 3vDV-2 3 500 93.0 5.0
87 88 4v O-1 &7 50 919 61| 5 6 440-1 a2 50 75.0 23.0| 37 38 4vDV-2 A 500 93.0 5.0
93 94 3¢ O-1 vK 50 919 61| 7 8 440-1 +8 50 75.0 23.0| 51 52 44 S= vA 420 88.0 10.0
3 4 24S-1 vJ -50 80.6 174| 9 10 44 0-1 +3 50 75.0 23.0| 57 58 44 S= vA 420 88.0 10.0
23 24 24 S-1 vlJ -50 80.6 17.4| 13 14 34 0-1 a4 50 75.0 23.0| 71 72 44 S= vA 420 88.0 10.0
43 44 24 N-1 *4 -50 80.6 17.4| 23 24 44 O-1 a4 50 75.0230| 1 2 4vV-3 &5 300 82.0 16.0
49 50 24 N-1 +5 -50 80.6 17.4| 27 28 44 O-1 +8 50 75.0 23.0| 63 64 4v V-3 aA 300 82.0 16.0
53 54 24 N-1 +5 -50 80.6 17.4| 33 34 44 0O-1 a2 50 75.0 23.0| 81 82 4v V-3 *5 300 82.0 16.0
59 60 34 N-1 +5 -50 80.6 17.4| 37 38 44 O-1 +8 50 75.0 23.0| 13 14 4v V-2 s A 200 72.0 26.0
63 64 24 N-1 +5 -50 80.6 17.4| 45 46 44 O-1 a4 50 75.0 23.0| 19 20 4v V-2 &5 200 72.0 26.0
69 70 34 N-1 &2 -50 80.6 17.4| 47 48 44 O-1 *2 50 75.0 23.0| 21 22 4v V-2 ¢ A 200 72.0 26.0
5 6 44 N-2 +5 -100 69.4 286 | 65 66 44 O-1 a2 50 75.0 23.0| 39 40 3v V-2 &3 200 72.0 26.0
39 40 44 N-2 vA -100 69.4 286 | 67 68 44 O-1 +8 50 75.0 23.0| 43 44 3v V-2 &5 200 72.0 26.0
67 68 34 S-2 vlJ -100 69.4 286 | 77 78 44 O-1 a4 50 75.0 23.0| 53 54 4v V-2 aA 200 72.0 26.0
9 10 34 S-3 v] -150 63.3 34.7| 85 86 44 O-1 a2 50 75.0 23.0| 91 92 4v V-2 s A 200 72.0 26.0
13 14 44 S-3 v7 -150 63.3 34.7| 87 88 44 O-1 +9 50 75.0 23.0| 9 10 34 S+1 &J 170 59.0 39.0
55 56 34 N-3 +8 -150 63.3 34.7| 91 92 44 O-1 +3 50 75.0 23.0| 59 60 34 N+1 8 170 59.0 39.0
57 58 3vV+l &6 -170  57.2 40.8| 93 94 44 O-1 v4 50 75.0 23.0| 67 68 24 S+2  ¢2 170 59.0 39.0
73 74 3v O+1 &7 -170 57.2 408 | 95 96 44 O-1 +3 50 75.0 23.0| 69 70 34 S+1 YA 170 59.0 39.0
75 76 3v O+1 aA -170 57.2 408| 71 72 INO= v3 90 55.0 43.0| 77 78 24 N+2 +v8 170 59.0 39.0
7 8 44 N-4 +3 -200 521 459 89 90 INO= v3 -90 55.0 43.0| 97 98 34 S+1 &J 170 59.0 39.0
71 72 3v O+2 ¢K -200 521 459 21 22 24 O= v3 -110 52.0 460 7 8 34 S= +8 140 38.0 60.0
21 22 34DN-2 5 -300 459521 1 2 24 0+1 8 -140 30.0 68.0( 17 18 24 S+1 YA 140 38.0 60.0
33 34 24DN-2 +¢5 -300 459521 3 4 24 0+1 44 -140 30.0 680 23 24 34 S= +8 140 38.0 60.0
85 86 34aDN-2 5 -300 459521 11 12 24 O+1 44 -140 30.0 68.0| 25 26 34 S= vA 140 38.0 60.0
89 90 34DN-2 5 -300 459521 15 16 34 O= +8 -140 30.0 68.0( 29 30 34 S= +3 140 38.0 60.0
1 2 4v0= 4 A -420 36.8 612 19 20 24 O+1 +8 -140 30.0 680 31 32 34 S= LN 140 38.0 60.0
11 12 4v O= +K -420 36.8 612 25 26 24 O+1 42 -140 30.0 68.0| 35 36 34 S= +8 140 38.0 60.0
15 16 4v O = a2 -420 36.8 61.2| 35 36 34 O= a2 -140 30.0 68.0| 41 42 34 S= vA 140 38.0 60.0
79 80 4v O= &8 -420 36.8 61.2| 39 40 34 O= +3 -140 30.0 68.0| 47 48 24 S+1 YA 140 38.0 60.0
83 84 4v O= aA -420 36.8 61.2| 41 42 34 O= +3 -140 30.0 68.0| 55 56 34 S= +8 140 38.0 60.0
19 20 4v O+1 4A -450 255 725 43 44 24 O+1 +6 -140 30.0 68.0| 61 62 34 S= vA 140 38.0 60.0
47 48 4v O+1 4A -450 255 725 49 50 24 O+1 42 -140 30.0 68.0( 73 74 34 N= +8 140 38.0 60.0
61 62 4v O+1 4A -450 255 725( 51 52 24 O+1 +8 -140 30.0 68.0| 85 86 34 S= +8 140 38.0 60.0
65 66 4v V+1 ¢7 -450 255 725 55 56 34 O= 45 -140 30.0 68.0| 87 88 34 S= +8 140 38.0 60.0
81 82 4v O+1 4A -450 255 725| 57 58 34 O= v4 -140 30.0 680 95 96 34 S= +8 140 38.0 60.0
95 96 4v O+1 4A -450 255 725( 59 60 24 O+1 42 -140 30.0 68.0( 33 34 3v V-1 ¢ A 100 22.0 76.0
27 28 34DN-3 5 -500 15.3 82.7| 61 62 34 O= v5 -140 30.0680( 3 4 44 S-1 +8 -50 12.0 86.0
31 32 44DN-3 45 -500 15.3 82.7| 63 64 34 O= +3 -140 30.0680|( 5 6 445S-1 vA -50 12.0 86.0
37 38 44DN-3 5 -500 153 82.7| 69 70 34 O= +8 -140 30.0 68.0( 11 12 44 S-1 +8 -50 12.0 86.0
91 92 44DN-3 5 -500 153 82.7| 75 76 34 O= a2 -140 30.0 680 15 16 44 N-1 v8 -50 12.0 86.0
51 52 4vDO= 4A -590 10.2 87.8| 79 80 34 O= v4 -140 30.0 68.0| 45 46 44 S-1 &J -50 12.0 86.0
99 100 5vDO= 4A -650 8.2 89.8| 83 84 24 O+1 v3 -140 30.0 68.0( 49 50 44 S-1 +8 -50 12.0 86.0
41 42 4vyDO+1 &7 -690 4.1 939 53 54 2NV +1 v6 -150 8.0 90.0| 83 84 44 S-1 +8 -50 12.0 86.0
45 46 4vyDV+1 ¢8 -690 41939 29 30 34 V+l 43 -170 5.0 93.0| 89 90 44 S-1 +8 -50 12.0 86.0
77 78 4¢vDO+1 ¢K 690 4.1 939 73 74 264 O+2 42 -170 5.0 93.0( 99 100 44 S-1 &J -50 12.0 86.0
97 98 4¢DS-4 v -800 0.0 98.0| 17 18 44 O= +3 -420 1.0970| 79 80 44DS-1 vA -100 2.0 96.0
17 18 A+/A+ 58.8 588 31 32 44 O= +8 -420 1.0970( 75 76 2vV+1l ¢A -140 0.0 98.0
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4 4 D85 Basta kontrakt 5 4 Kn53 Basta kontrakt 6 4 EKDKn4 Basta kontrakt
Vast v ED1092 4ANT N =630 Nord v E542 4v O =-420 Ost v DKn6 5NT S =460
Alla +84 NS 4108 ov + EKn105
#1075 & ¢ v & NT #Kn532 & ¢ v & NT &D & ¢ v & NT
« Kn107 & EK93 N 6 10107 10 2 K1084 4E9 N54253 498652 473 N 1011101111
vK73 v54 S6 896 8 v10 vKDKn973 S 5 4 2 5 3 vE1054 #3872 S 1011101111
¢ 7653 ¢ KKn2 06 3363 ¢ K72 ¢ Kn643 08 9 108 9 + K9 4762 021322
#DKn4 #E983 V63363 #ED1074 %9 vV 8 9 108 9 &54 #E10832 V21322
4642 4 D762 410
v Kn86 v 86 v K93
+ ED109 + ED95 + D843
*K62 *K86 #KKn976
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
45 44 INO-4 v6 400 940 40| 49 48 3¢ O-2 a2 100 98.0 0.0| 95 94 2¢DV-5 «A 1400 98.0 0.0
67 66 INO-4 v6 400 940 40| 39 38 3NV-1 &2 50 95.0 3.0| 67 66 2&#RDN +2 v2 960 96.0 2.0
69 68 INO-4 v6 400 940 40| 81 80 3vO-1 46 50 950 3.0 9 8 3NN+3 2 490 85.0 13.0
79 78 1INV -4 +8 400 940 4.0| 47 46 2v O+1 46 -140 91.0 7.0| 35 34 3NS+3 v4 490 85.0 13.0
81 80 INO-4 v6 400 940 40| 59 58 2v O+l %6 -140 91.0 7.0| 37 36 3NS+3 v4 490 85.0 13.0
21 20 INO-3 v6 300 81.0170| 5 4 2v0O+2 v6 -170 82.0 16.0| 43 42 3NN+3 &2 490 85.0 13.0
25 24 INO-3 v2 300 81.0 17.0| 15 14 29y O+2 46 -170 82.0 16.0| 45 44 3NS+3 v4 490 85.0 13.0
29 28 INO-3 +9 300 81.0 17.0| 27 26 2v O+2 %6 -170  82.0 16.0 55 54 3NN+3 &2 490 85.0 13.0
55 54 INO-3 v5 300 81.0 17.0| 45 44 2v O+2 8 -170 82.0 16.0| 63 62 3NN+3  #2 490 85.0 13.0
61 60 INO-3 v6 300 810 170| 63 62 3vy O+1 &2 -170  82.0 160 73 72 3NN+3 &7 490 85.0 13.0
83 82 INO-3 v] 300 81.0 17.0| 73 72 2v O+2 v6 -170 82.0 16.0| 93 92 3NS+3 v4 490 85.0 13.0
85 84 INO-3 a2 300 810 170| 89 88 2v O+2 +v8 -170 82.0 16.0 97 96 3NN+3  #3 490 85.0 13.0
99 98 INO-3 *T 300 81.0 17.0| 11 10 2NV +2  #3 -180 73.0 25.0( 1 100 BNN+2 &A 460 47.0 51.0
1100 INO-2 a2 200 67.0 31.0| 83 82 2NV +2 43 -180 73.0250( 3 2 3NS+2 46 460 47.0 51.0
5 4 INO-2 46 200 67.0 31.0| 25 24 2v O+3 +A -200 68.0 30.0f 5 4 3NS+2 v5 460 47.0 51.0
35 34 INO-2 +9 200 67.0 31.0| 57 56 3vy O+2 +v8 -200 68.0 30.0f 7 6 3NS+2 v5 460 47.0 51.0
39 38 INO-2 &3 200 67.0 31.0| 75 74 2v O+3 v6 -200 68.0 30.0[ 11 10 3NS+2 v5 460 47.0 51.0
53 52 INO-2 v8 200 670310 3 2 3NO= 46 -400 54.0 440( 15 14 3NS+2 v5 460 47.0 51.0
89 88 INO-2 v8 200 67.0 31.0| 17 16 3NO= *7 -400 54.0 440 17 16 3NN+2 v2 460 47.0 51.0
31 30 2vS+2 +6 170 60.0 38.0| 21 20 3NV= *T -400 54.0 440 19 18 3NS+2 v5 460 47.0 51.0
15 14 2v N+1 &A 140 58.0 40.0| 35 34 3NV= v2 -400 54.0 440 23 22 3NS+2 v8 460 47.0 51.0
9 8 2vN= s A 110 55.0 43.0| 37 36 3NV= *T -400 54.0 440 25 24 3NS+2 v5 460 47.0 51.0
51 50 2v S= aJ 110 55.0 43.0| 51 50 3NV= *T -400 54.0 440 27 26 3NS+2 v5 460 47.0 51.0
11 10 INO-1 46 100 46.0 52.0| 65 64 3NV= *T 400 54.0 440 29 28 3NS+2 3 460 47.0 51.0
37 36 INO-1 v6 100 46.0 52.0( 85 84 3NV= &3 -400 54.0 440 31 30 3NS+2 v4 460 47.0 51.0
57 56 INO-1 *T 100 46.0 52.0| 87 86 3NV= 45 -400 54.0 440 39 38 3NS+2 v4 460 47.0 51.0
71 70 INO-1 +9 100 46.0 52.0( 95 94 3NV = *T -400 54.0 440 41 40 3NS+2 a2 460 47.0 51.0
87 86 INO-1 +9 100 46.0 52.0 97 96 3NV = &3 -400 54.0 440 47 46 3NN+2 #4 460 47.0 51.0
91 90 24 O-1 v8 100 46.0 52.0| 23 22 4v O= v8 -420 41.0 57.0| 49 48 3NS+2 v4 460 47.0 51.0
97 96 INO-1 a2 100 46.0 52.0| 31 30 4v O= 46 -420 41.0 57.0| 51 50 3NS+2 v5 460 47.0 51.0
3 2 INO= a2 90 27.0710| 7 6 3NV+l &3 -430 30.0 680 53 52 3NS+2 42 460 47.0 51.0
7 6 INO= a4 -90 27.0 71.0| 13 12 3NO+1 &3 -430 30.0 68.0[ 59 58 3NN+2 +v8 460 47.0 51.0
13 12 INO= +6 90 27.0 71.0| 19 18 3NV+1l &3 -430 30.0 68.0 61 60 3NS+2 v5 460 47.0 51.0
19 18 INO= *T -90 27.0 71.0| 29 28 3NV+1l &3 -430 30.0 68.0 79 78 3NS+2 v5 460 47.0 51.0
23 22 INO= a2 -90 27.0 71.0| 41 40 3NV+1 &2 -430 30.0 680 81 80 3NN+2 46 460 47.0 51.0
41 40 INO= 43 90 27.0 71.0| 61 60 3NV+1l &2 -430 30.0 680 85 84 3NS+2 45 460 47.0 51.0
49 48 INO= 46 -90 27.0 71.0| 69 68 3NV+l &3 -430 30.0 68.0| 87 86 3NS+2 v4 460 47.0 51.0
59 58 INO= a2 90 27.0 71.0| 91 90 3NV+1 43 -430 30.0 68.0( 89 88 3NS+2 a2 460 47.0 51.0
65 64 INO= +9 90 27.0 71.0| 93 92 3NO+1 &2 430 30.0 680 91 90 3NS+2 a2 460 47.0 51.0
73 72 INO= 48 -90 27.0 71.0| 53 52 4v O+1 +v6 -450 16.0 82.0( 99 98 3NN+2 v2 460 47.0 51.0
93 92 INO= 46 90 27.0 71.0| 67 66 4v O+1 46 -450 16.0 82.0( 13 12 44 N+1 43 450 16.0 82.0
95 94 INO= 46 90 27.071.0| 71 70 4v O+l 46 -450 16.0 82.0( 33 32 44 N+1 v2 450 16.0 82.0
47 46 24 O= a2 -110 14.0 840 77 76 4y O+1 46 -450 16.0 82.0| 69 68 44 N+1 ¢2 450 16.0 82.0
17 16 INO+1 9 -120 7.0 91.0| 99 98 4v O+1 42 -450 16.0 82.0| 57 56 44 N= a7 420 12.0 86.0
27 26 INO+1 42 -120 7.0910| 33 32 3NV+2 &3 -460 10.0 88.0( 21 20 5¢ N= *A 400 8.0 90.0
33 32 INO+1 46 -120 7.0 91.0| 43 42 14aDN-2 &9 -500 7.0910| 71 70 5¢ N= *A 400 8.0 90.0
43 42 INO+1 42 -120 7.0910| 79 78 2NN-5 vK -500 7.0910| 75 74 3NS= v4 400 8.0 90.0
63 62 INO+1 46 -120 70910| 9 8 2¢DS-3 T -800 4.0940( 65 64 3¢ S+2 42 150 3.0 95.0
77 76 INO+1 T -120 7.0 91.0| 1100 14aDS-4 T -1100 1.0 97.0( 83 82 4¢ N+1 2 150 3.0 95.0
75 74 INO+2 +9 -150 0.0 98.0| 55 54 2¢DS-4 +v8 -1100 1.0 970 77 76 6¢ N-1 *A -50 0.0 98.0
7 4 Kn64 Basta kontrakt 8 + EKn986 Basta kontrakt 9 a4 Basta kontrakt
Syd vD ANT S =630 Vast v D982 2NTV D -1 100 Nord v EKD10932 4ANT N D -2 -300
Alla + EKDKn103 Ingen *+K ov +83
#E83 & ¢ v & NT *974 & ¢ v & NT #872 & ¢ v & NT
4 D10 « E87532 N 8 116 4 10 41074  &K53 N7 5886 4 D10763 & EKn92 N4 38 38
vEK7642 v109 S 8 116 4 10 vKn64  vK53 S75886 vKn va S 43838
+ 8754 .- 0527 83 + D86 ¢ EKn542 06 8557 ¢+ 10652 ¢ EKD4 O 9 104 105
&D #109765 V52783 #DKn85 #E6 V68557 #K43 #DKn95 V 9 104 105
4 K9 4 D2 & K85
v Kn853 vE107 v 8765
4962 410973 ¢ Kn97
#KKn42 #K1032 *E106
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
89 99 3vyDV-3 +¢K 800 98.0 0.0| 44 28 INO-3 +Q 150 96.0 20| 55 26 54DO-1 v7 200 96.0 2.0
9 71 3NS+2 vA 660 940 40| 55 26 3¢ O-3 +Q 150 96.0 2.0| 65 62 54DV-1 ©vA 200 96.0 2.0
43 37 3NS+2 v6 660 940 40| 65 62 2NV-3 48 150 96.0 2.0| 90 100 6e& V-2 vA 200 96.0 2.0
54 92 3N S +2 v2 660 940 4.0| 25 56 24 N+1  #A 140 90.0 80| 14 11 54 V-1 vA 100 77.0 21.0
10 66 3NS+1 vA 630 84.0 14.0| 43 37 2v N+1 +v3 140 90.0 80| 23 74 54 V-1 vA 100 77.0 21.0
19 60 3NS+1 v4 630 84.0 140| 67 46 2v S+1 v4 140 90.0 80| 41 79 54 O-1 v8 100 77.0 21.0
30 97 3NS+1 4Q 630 84.0 140| 19 60 24 N= ¢ A 110 76.0 22.0| 42 12 54 O-1 vA 100 77.0 21.0
42 12 3NS+1 4Q 630 84.0 14.0| 30 97 2v S= v4 110 76.0 22.0| 43 37 54 V-1 vA 100 77.0 21.0
48 96 3NS+1 v6 630 84.0 140| 34 1 2¢v N= *A 110 76.0 22.0| 44 28 54 V-1 vA 100 77.0 21.0
59 21 3NS+1 v2 630 84.0 140| 39 57 2v S= L Jo) 110 76.0 22.0| 59 21 54 V-1 vA 100 77.0 21.0
93 32 3NS+1 vA 630 84.0 14.0| 45 61 24 N= *A 110 76.0 22.0| 63 27 54 V-1 vA 100 77.0 21.0
45 61 5¢ N+1 vT 620 76.0 22.0| 48 96 24 N= *A 110 76.0 22.0| 64 38 54 O-1 vA 100 77.0 21.0
40 58 3NS= v4 600 73.0 25.0| 59 21 24 N= *A 110 76.0 22.0| 68 82 54 V-1 vK 100 77.0 21.0
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49 3 5¢ N= vT 600 73.0 25.0| 73 24 2v N= *A 110 76.0 22.0| 70 22 54 V-1 vA 100 77.0 21.0
80 18 44DO-2 +6 500 70.0 28.0| 78 5 24 N= *A 110 76.0 22.0| 73 24 54 O-1 vA 100 77.0 21.0
77 6 4v V-4 ¢ A 400 68.0 30.0| 80 18 24 S= *Q 110 76.0 22.0| 75 88 54 V-1 vA 100 77.0 21.0
17 72 3v V-3 ¢ A 300 63.0 35.0| 84 16 24 N= *A 110 76.0 22.0| 80 18 54 V-1 vK 100 77.0 21.0
25 56 3v V-3 +K 300 63.0 35.0| 14 11 2¢ O-2 4Q 100 60.0 38.0| 81 87 54 V-1 vA 100 77.0 21.0
65 62 3v V-3 ¢ A 300 63.0 35.0| 53 91 INV-2 46 100 60.0 38.0| 94 31 54 V-1 vA 100 77.0 21.0
78 5 3vV-3 ¢ A 300 63.0 35.0| 90 100 3¢ O-2 4Q 100 60.0 38.0| 25 56 4v S-1 43 -50 60.0 38.0
68 82 34 O-2 2 200 57.0 41.0| 93 32 3¢ O-2 4Q 100 60.0 38.0| 17 72 4vDN-1 +A -100 56.0 42.0
81 87 44DO-1 2 200 57.0 41.0| 95 47 INO-2 LYe) 100 60.0 38.0| 53 91 4vDN-1 K -100 56.0 42.0
39 57 3¢ N+3 *T 170 54.0 44.0| 64 38 3¢ O-1 4Q 50 51.0 47.0| 77 6 4vDN-1 +A -100 56.0 42.0
8 52 3¢ N+2 v9 150 42.056.0| 77 6 3¢ O-1 4Q 50 51.0 47.0| 7 51 5vDN-2 +A -300 40.0 58.0
23 74 4¢ N+1 T 150 42.0 56.0| 83 15 34 O-1 L) 50 51.0 47.0| 13 76 5vDN-2 +A -300 40.0 58.0
29 98 4¢ N+1 »T 150 42.0 56.0 94 31 3+ O-1 4Q 50 51.0 47.0| 29 98 5vDN-2 K -300 40.0 58.0
34 1 46 N+1 vT 150 42.0 56.0| 8 52 24 N-1 *A -50 41.0 57.0| 30 97 5vDN-2 +¢A -300 40.0 58.0
36 86 3¢ N+2 *T 150 420560 9 71 24 N-1 SA -50 41.057.0| 34 1 5¢vDN-2 +¢A -300 40.0 58.0
41 79 3¢ N+2 99 150 42.0 56.0 | 17 72 24 N-1 *A -50 41.0 57.0| 35 85 5vDS-2 43 -300 40.0 58.0
55 26 4¢ N+1 &A 150 42.0 56.0| 36 86 24 S-1 +5 -50 41.0 57.0| 36 86 5vDN-2 K -300 40.0 58.0
67 46 3¢ N+2 *T 150 42.0 56.0( 49 3 24 N-1 *A -50 41.0 57.0| 39 57 5vDN-2 +¢A -300 40.0 58.0
73 24 3¢ N+2 T 150 42.0 56.0| 63 27 2v S-1 +6 -50 41.0 57.0| 40 58 5vDN-2 +¢A -300 40.0 58.0
83 15 3¢ N+2 *T 150 42.056.0| 7 51 INO= *T -90 32.0 66.0| 48 96 5vDN-2 +¢A -300 40.0 58.0
95 47 3¢ N+2 &A 150 42.0 56.0| 13 76 INO= *T 90 32.066.0| 49 3 5vDN-2 +¢A -300 40.0 58.0
4 50 3¢ N+1 &A 130 20.0 78.0| 69 20 INO= 3 -90 32.0 66.0| 54 92 5vDN-2 K -300 40.0 58.0
13 76 3¢ N+1 vT 130 20.0 78.0| 4 50 2v S-2 +6 -100 26.0 72.0| 67 46 5vDN-2 ¢A -300 40.0 58.0
14 11 3¢ N+1 »T 130 20.0 78.0| 42 12 24 N-2 *A -100 26.0 720 33 2 5¢DN-3 ¢K -500 24.0 74.0
35 85 2¢ N+2 »T 130 20.0 78.0| 81 87 2v N-2 *A -100 26.0 72.0| 45 61 6vyDN-3 +¢A -500 24.0 74.0
53 91 3¢ N+1 *T 130 20.0 78.0| 29 98 3¢ O= *T -110 21.0 77.0| 83 15 5vDN-3 &6 -500 24.0 74.0
63 27 3¢ N+1 *T 130 20.0 78.0| 41 79 2¢ O+1 4Q -110 21.0 770 4 50 44 V= vA -620 10.0 88.0
64 38 3¢ N+1 »T 130 20.0 78.0| 10 66 INO+1 43 -120 140 840| 8 52 44 V= vA -620 10.0 88.0
69 20 4¢ N= vT 130 20.0 78.0| 35 85 INO+1 &2 -120 140 840( 9 71 44 V= vA -620 10.0 88.0
70 22 3¢ N+1 *T 130 20.0 78.0| 54 92 INO+1 T -120 140 84.0( 10 66 44 V= vA -620 10.0 88.0
75 88 4¢ N= vT 130 20.0 78.0| 68 82 INV+1 T -120 140 84.0( 19 60 44 V= vA -620 10.0 88.0
90 100 3¢ N+1 *T 130 20.0 78.0| 70 22 INO+1 4 -120 14.0 84.0( 69 20 44 V= vA -620 10.0 88.0
84 16 2¢ N+1 T 110 8.0 90.0| 23 74 2¢ O+2 4Q -130 8.0900( 78 5 44 V= vA -620 10.0 88.0
33 2 240-1 2 100 6.0 920 33 2 INO+2 T -150 4.0940( 84 16 44 V= vA -620 10.0 88.0
7 51 3vV= ¢ A -140 4.0 94.0( 75 88 INO+2 &2 -150 4.0 94.0| 89 99 44 V= v8 -620 10.0 88.0
44 28 5¢DN-1 T 200 2.0960( 89 99 INO+2 &2 -150 4.0 940 93 32 44 O= vA -620 10.0 88.0
94 31 3#DS-2 v6 -500 0.0 980 40 58 5vyDN-2 +¢A -300 0.0 980 95 47 44 V= vA -620 10.0 88.0
10 4 KD Basta kontrakt 11 4 Kn8 Basta kontrakt 12 4 EKDKN96 Basta kontrakt
Ost vE1084 34 O =-140 Syd vED10763 34 VD-1100 Vast v52 5¢ V D -2 300
Alla + ED8 Ingen ¢ 764 NS +D4
#9864 & ¢ v & NT &D5 & ¢ v & NT #743 & ¢ v & NT
410853 4 E976 N36 444 « EK1042 497653 N9 96 35 410754 43 N8 3 4 107
v9 v KDKn63 S 36444 vK4 v Kn852 S996 35 v973 v EDKn84 S 8 3 4 107
¢ 975 ¢+ K4 O 106 8 9 8 + EKD ¢85 0336185 ¢ EKKn85 ¢ 976 0499 34
#EKKn72 «#D10 V 106 8 9 8 #1072 *43 V336285 +K #Kn986 V49934
& Kn42 D 482
v 752 v9 v K106
+ Kn10632 + Kn10932 41032
#53 #EKKN986 #ED1052
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
25 100 44 O -2 3 200 97.0 10| 70 46 54DV-3 vA 500 98.0 0.0| 57 30 4vDO-5 48 1100 98.0 0.0
96 44 V -2 8 200 97.0 1.0| 91 51 3NV-4 *Q 200 95.0 3.0| 17 31 24DN+1 ¢4 870 96.0 2.0
4 7 44 V-1 *6 100 77.0 21.0| 93 16 64 O-4 *A 200 95.0 3.0| 68 36 4vDO-3 43 500 94.0 4.0
5 45 44 V-1 *6 100 77.0 21.0| 22 78 54 V-3 *Q 150 90.0 8.0| 63 35 5vDO-2 48 300 92.0 6.0
15 71 44 0-1 oK 100 77.0 21.0| 38 14 54 V-3 *Q 150 90.0 80| 3 58 24 N+4 48 230 90.0 8.0
17 31 4e V-1 «9 100 77.0 21.0| 72 24 44 V-3 *A 150 90.0 80| 21 40 24 N+2 %6 170 86.0 12.0
19 82 44 0-1 2 100 77.0 21.0| 88 66 3#S= ¢ A 110 86.0 12.0| 39 37 24 N+2 48 170 86.0 12.0
34 83 44 V-1 *9 100 77.0 21.0| 17 31 44 V-2 vA 100 80.0 18.0| 53 47 24 N+2 48 170 86.0 12.0
38 14 44 V-1 v6 100 77.0 21.0| 57 30 44 O-2 *A 100 80.0 18.0| 15 71 3¢ V-3 s A 150 82.0 16.0
39 37 44 O-1 +J 100 77.0 21.0| 64 2 44 V-2 *Q 100 80.0 18.0| 22 78 24 N+1 6 140 73.0 25.0
63 35 44 V-1 *9 100 77.0 21.0| 73 49 44 V-2 *Q 100 80.0 18.0| 32 76 34 N= +6 140 73.0 25.0
74 67 44 V-1 *6 100 77.0 21.0| 98 26 44 V-2 *Q 100 80.0 18.0| 55 29 24 N+1 6 140 73.0 25.0
81 12 44 V-1 ¢ A 100 77.0 21.0| 3 58 44 V-1 *Q 50 64.0 34.0| 69 50 34 N= +6 140 73.0 25.0
90 87 44 V-1 &4 100 77.0 21.0| 5 45 44 0-1 A 50 64.0 34.0| 74 67 34 N= +6 140 73.0 25.0
91 51 3NO-1 ¢J 100 77.021.0| 6 84 44 0-1 *A 50 64.0 34.0| 81 12 34 N= +6 140 73.0 25.0
93 16 44 O-1 *6 100 77.0 21.0| 10 79 44 O-1 *A 50 64.0 34.0| 88 66 34 N= +6 140 73.0 25.0
95 20 44 V-1 *4 100 77.0 21.0| 39 37 34 V-1 *Q 50 64.0 34.0| 93 16 34 N= +6 140 73.0 25.0
97 59 4a V-1 ¢A 100 77.0 21.0| 53 47 34 V-1 *Q 50 64.0 34.0| 42 18 24 N= +6 110 59.0 39.0
98 26 3NV-1 oK 100 77.0 21.0| 69 50 34 V-1 *Q 50 64.0 34.0| 62 27 24 N= +6 110 59.0 39.0
99 61 44 V-1 *9 100 77.0 21.0| 75 77 44 V-1 *Q 50 64.0 34.0| 70 46 24 N= +6 110 59.0 39.0
6 84 2NS-1 43 -100 58.0 40.0( 80 65 44 V-1 vA 50 64.0 34.0| 72 24 24 N= v3 110 59.0 39.0
70 46 24 O= *9 -110 56.0 420 81 12 44 V-1 *Q 50 64.0 34.0| 92 13 24 N= vQ 110 59.0 39.0
54 60 INV+1 &K -120 54.0 440( 99 61 34 V-1 *Q 50 64.0 34.0| 99 61 24 N= +6 110 59.0 39.0
92 13 24 0+2 ¢J -130 52.0 460 4 7 4¢ S-1 ¢ A 50 49.049.0| 4 7 4e V-2 s A 100 50.0 48.0
3 58 340= *6 -140 340 640( 41 33 44 S-1 ¢ A -50 49.0 490| 6 84 3vO-2 48 100 50.0 48.0
8 48 34 V= *6 -140 340640 56 52 44 S-1 *2 -50 49.0 49.0| 9 85 3¢ V-2 aA 100 50.0 48.0
21 40 24 V+1 &K -140 340640 97 59 44 S-1 ¢ A -50 49.0 49.0| 8 48 3vO-1 8 50 41.0 57.0
22 78 24 V+1  ¢A -140 340 640( 28 11 4¢DN-1 &7 -100 43.0 55.0| 25 100 3v O-1 48 50 41.0 57.0
28 11 24 V+1 &6 -140 340640 62 27 44DS-1 4A -100 43.055.0( 38 14 3aV-1 aK 50 41.0 57.0
42 18 24 V+1 &9 -140 340640 8 48 24 V= *Q -110 39.059.0( 41 33 3v O-1 48 50 41.0 57.0
53 47 3a V= 4Q -140 340 640( 95 20 24 V= *Q -110 39.0590( 54 60 INV-1 s A 50 41.0 57.0
55 29 34 V= «8 -140 34.0640(| 54 60 34 V= *Q -140 35.0 63.0( 90 87 3¢ V-1 aA 50 41.0 57.0
57 30 24 V+1 &K -140 34.0640( 86 43 34 V= *6 -140 35.0 63.0 80 65 34 N-1 +6 -100 32.0 66.0
64 2 3aV-= *6 -140 340 640 21 40 3v N-3 +8 -150 32.0 66.0| 86 43 34 N-1 +6 -100 32.0 66.0
68 36 24 V+1 &4 -140 340640 9 85 5¢DS-2 +A -300 18.0 80.0| 98 26 24 N-1 vQ -100 32.0 66.0
69 50 24 V+1 &6 -140 340640 15 71 54DS-2 +A -300 18.0 80.0| 91 51 3¢ V= oK -110 275 70.5
72 24 24 V+1 &9 -140 340640 19 82 54DS-2 ¢K -300 18.0 80.0| 73 49 3¢ V+1 4A -130 245 735
80 65 24 V+1 &6 -140 34.0 64.0( 25 100 54DN-2 ¢A -300 18.080.0| 19 82 3v O= 48 -140 19.0 79.0
86 43 24 V+1  #6 -140 340640 32 76 54DS-2 +A -300 18.0800| 64 2 3v V= s A -140 19.0 79.0
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88 66 24 V+1 &6 -140 34.0 640 34 83 5¢DN-2 43 -300 18.0 80.0( 75 77 3v O= 48 -140 19.0 79.0
89 23 34 V= +K -140 34.0 640 42 18 54DS-2 +A -300 18.0 80.0| 95 20 3v O= a2 -140 19.0 79.0
10 79 24 V+2 &6 -170 14.0 840 63 35 5¢DS-2 A -300 18.0 80.0( 5 45 3v O+1 48 -170 13.0 85.0
56 52 24 V+2 &9 -170 14.0 84.0| 74 67 54DS-2 +A -300 18.0 80.0| 94 44 3vy O+1 48 -170 13.0 85.0
75 T7 24V +2 vA -170 14.0 84.0| 90 87 5¢DS-2 K -300 18.0 80.0( 28 11 34DN-1 7 -200 7.0 91.0
32 76 3¢ S-2 v9 -200 10.0 88.0| 92 13 5#DS-2 +¢A -300 18.0 80.0| 56 52 34 N-2 *7 -200 7.0 91.0
41 33 3NO= &5 -600 8.0 90.0| 94 44 54DS-2 +A -300 18.0 80.0| 89 23 3NS-2 ¢+ K -200 7.0 91.0
62 27 44 V= &9 -620 4094.0| 96 1 5¢DS-2 +¢A -300 18.0 800 96 1 44 N-2 +5 -200 7.0 91.0
73 49 44 V= *6 -620 40 94.0| 68 36 4e V= +5 -420 3.0950| 10 79 4vDO= 48 -590 2.0 96.0
94 44 4e V= &6 -620 40 94.0| 89 23 4e V= +6 -420 3.0 950| 34 83 3vDO+1 48 -630 0.0 98.0
9 85 INDN-3 &7 -800 0.0 98.0| 55 29 4vDN-4 43 -800 0.0 98.0| 97 59 12C1c 26.3 71.7
13 « E10864 Basta kontrakt 14 442 Basta kontrakt 15 4 K4 Basta kontrakt
Nord v42 4v O D -2500 Ost vKD1032 3v SD-1-100 Syd v K763 64 SD-1-200
Alla ¢ E87 Ingen ¢+ Kn75 NS + KD10982
#Kn102 & ¢ v & NT #954 & ¢ v & NT »3 & ¢ v & NT
4 KKn952 &7 N 105 5 7 9 4 KDKn3 4 E97 N7 48565 410972 &- N O 101 111
v97653  vKDKn S 106 5 7 9 v 98 vKn54 S7 4855 vKn98 v ED542 S 0 101 111
¢ KKn +D105432 O 3 7 8 6 3 ¢ E1094 ¢ KD83 059586 +43 +6 O 120 110 O
»3 £964 V3786 3 #D63 #Kn107 V59586 #EKNn84 &KD109752 V 120 110 O
«D3 » 10865 » EDKn8653
vE108 vE76 v10
+ 96 ¢ 62 ¢ EKn75
#EKD875 #EK82 *6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
93 85 3NS+2 v3 660 98.0 0.0| 17 28 3NV-3 vK 150 96.0 20| 21 79 64 N= &K 1370 98.0 0.0
6 49 3NS+1 a2 630 84.0 140| 25 74 3NO-3 v7 150 96.0 20| 84 89 54DS+1 vJ 1050 96.0 2.0
13 88 3NS+1 a2 630 840 140| 73 5 INN+2 #J 150 96.0 2.0| 48 18 54DS= &A 850 93.0 5.0
14 83 3NN+1 vK 630 84.0 14.0| 57 40 2v N+1  #J 140 920 6.0| 51 30 54DS= 8 850 93.0 5.0
21 79 3NN+1 &7 630 84.0 14.0| 70 78 INS+1 +K 120 90.0 80| 60 11 44DS= 8 790 90.0 8.0
51 30 3NS+1 v5 630 84.0 140| 53 58 2v N= ¢+ K 110 88.0 10.0| 45 90 54 S= *A 650 86.0 12.0
55 52 3NN+1 48 630 84.0 140| 3 34 34V-2 vK 100 83.0 15.0| 53 58 54 S= &A 650 86.0 12.0
57 40 3NS+1 v3 630 84.0 140| 24 94 2NO-2 v7 100 83.0 150| 62 7 54 S= v8 650 86.0 12.0
61 66 3NN +1 vK 630 84.0 140| 59 2 2NV-2 v2 100 83.0 150| 55 52 5¢ N= *Q 600 82.0 16.0
70 78 3NS+1 v3 630 84.0 14.0| 91 15 4a V-2 vQ 100 83.0 15.0| 91 15 5vDO-2 +¢A 300 80.0 18.0
82 69 3NN +1 vK 630 840 140| 1 68 INN-= +3 90 77.0 21.0| 17 28 7#4DO-1 +A 100 74.0 24.0
84 89 3NS+1 v5 630 84.0 14.0|100 27 INN= ¢+ K 90 77.0 21.0| 19 54 64DO-1 +A 100 74.0 24.0
96 8 3NN+1 &7 630 84.0 140| 9 22 INO-1 *A 50 70.0 28.0| 26 38 74D O-1 4A 100 74.0 24.0
98 87 3NS+1 &5 630 84.0 140| 23 97 INV-1 vK 50 70.0 28.0( 39 20 7#DO-1 +A 100 74.0 24.0
1 68 3NS= v5 600 61.0 37.0| 41 44 34 V-1 vK 50 70.0 28.0| 86 46 5¢vDV-1 &K 100 74.0 24.0
19 54 3NS= v9 600 61.0 37.0| 62 7 34 V-1 vK 50 70.0 28.0| 1 68 64 S-1 &A -100 58.0 40.0
29 37 3NS= v5 600 61.0 37.0| 72 77 24 V-1 vK 50 70.0 28.0| 12 50 6¢ N-1 vA -100 58.0 40.0
33 75 3NN= vK 600 61.0 37.0| 14 83 3v N-1 ¢+ K -50 57.0 41.0| 29 37 6¢ N-1 &T -100 58.0 40.0
45 90 3NN-= vK 600 61.0 37.0| 19 54 3v N-1 4 A -50 57.0 41.0| 33 75 6¢ N-1 vA -100 58.0 40.0
48 18 3NN= vK 600 61.0 37.0| 35 99 3v N-1 ¢+ K -50 57.0 41.0| 41 44 5¢ N-1 &K -100 58.0 40.0
60 11 3NS= v7 600 61.0 37.0| 39 20 3v N-1 v5 -50 57.0 41.0| 43 65 64 S-1 &A -100 58.0 40.0
76 42 3NS= v7 600 61.0 37.0| 47 64 3v N-1 ¢+ K -50 57.0 41.0| 72 77 5¢ N-1 &K -100 58.0 40.0
95 92 3NS= v7 600 61.0 37.0| 48 18 2v N-1 LN -50 57.0 41.0| 76 42 5¢ N-1 &K -100 58.0 40.0
100 27 3NN= +3 600 61.0 37.0| 60 11 2v N-1 v4 -50 57.0 41.0| 81 67 6¢ N-1 vA -100 58.0 40.0
35 99 4¢vDO-2 #A 500 50.0 48.0| 93 85 3v N-1 a7 -50 57.0 41.0| 93 85 64 S-1 &A -100 58.0 40.0
86 46 24 V-3 v4 300 48.0 50.0 | 86 46 3v S-2 +Q -100 47.0 510 96 8 64 S-1 SA -100 58.0 40.0
56 71 3¢ V-2 *A 200 45.0 53.0( 96 8 2vDN-1 A -100 47.0 51.0( 16 32 6¢ N-2 vA -200 42.0 56.0
63 80 3¢ V-2 &J 200 45.0 53.0( 6 49 24 V= vK -110 35.063.0( 36 31 6¢DS-1 #A -200 42.0 56.0
72 77 3#S+2 42 150 42.0 56.0| 16 32 3¢ O= &K -110 35.063.0[ 56 71 64DS-1 #A -200 42.0 56.0
43 65 24 N+1 vK 140 40.0 58.0| 29 37 24 O= vK -110 35.063.0[ 82 69 64DS-1 #A -200 42.0 56.0
10 4 34S+1 42 130 30.0 68.0| 43 65 3¢ O= *A -110 35.0 63.0| 98 87 6¢ N-2 L Jo) -200 42.0 56.0
17 28 44 S= ¢+ K 130 30.068.0| 51 30 3¢ O= SA -110 35.063.0( 14 83 6¢6DN-2 vA -500 36.0 62.0
25 74 34 S+1 v3 130 30.0 68.0| 55 52 2¢ V+1 vK -110 35.0 63.0( 24 94 54D O+1 &A -650 33.0 65.0
39 20 44 S-= ¢+ K 130 30.0 68.0| 56 71 24 V= vK -110 35.0 63.0 (100 27 5D O+1 T -650 33.0 65.0
41 44 34 S+1 43 130 30.0 68.0| 61 66 24 V= vK -110 35.0 63.0( 6 49 54DO+2 T -750 27.0 71.0
47 64 34 S+l 49 130 30.0 68.0| 82 69 3¢ O= *A -110 35.063.0( 10 4 54DO+2 ¥T -750 27.0 71.0
53 58 2# S +2 v9 130 30.0 68.0| 98 87 24 V= vK -110 35.0 63.0( 13 88 54DV +2 &K -750 27.0 71.0
62 7 3#S+1 ¢+ K 130 30,0680 10 4 INO+1 46 -120 22.0 76.0 61 66 54D O+2 &A -750 27.0 71.0
81 67 3#S+1 v4 130 30.0 68.0| 12 50 2NV = v3 -120 22.0 76.0| 57 40 4NS-8 v8 -800 22.0 76.0
23 97 24 S+1 v4 110 20.0 78.0| 63 80 INO+1 48 -120 22.0 76.0( 9 22 64#DV= ¢K -1090 18.0 80.0
24 94 4v V-1 &J 100 18.0 80.0| 36 31 34 V= vK -140 15.0 83.0[ 35 99 64DV= &K -1090 18.0 80.0
16 32 24 N-1 vK -100 15.0 83.0[ 45 90 24 V+1 vQ -140 15.0 83.0( 70 78 64D O= &A -1090 18.0 80.0
91 15 44 N-1 vK -100 15.0 83.0( 76 42 34 V= &4 -140 15.0 83.0( 3 34 64D O+1 &K -1190 10.0 88.0
26 38 34 N-2 +3 -200 10.0 88.0[ 95 92 24 O+1 #A -140 15.0 83.0( 47 64 64D O+1 A -1190 10.0 88.0
59 2 24 N-2 vK -200 10.0 88.0| 26 38 2NO+1 #K -150 9.089.0| 59 2 64DO+1 &K -1190 10.0 88.0
73 5 5&4S-2 ¢ A -200 10.0 88.0( 84 89 2NO+1 42 -150 9.089.0| 73 5 64DO+1 w7 -1190 10.0 88.0
9 22 44 N-3 vK -300 5.0930| 13 88 3NO= *6 -400 3.095.0| 95 92 64DV +1 4K -1190 10.0 88.0
36 31 44 N-3 vK -300 50930| 21 79 3NO= *A -400 3.0950| 25 74 6vDO= +A -1210 4.0 94.0
3 34 3vyDO= &A -730 2.096.0| 33 75 3NO= *A -400 3.0 95.0| 23 97 4vRDV +2 &K -1280 2.0 96.0
12 50 2¢vDV+1 v2 -870 0.0 98.0| 81 67 3NO= SA -400 3.0950| 63 80 7#DV= &K -1630 0.0 98.0
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16 43 Basta kontrakt 17 4 Kn5 Basta kontrakt 18 4 K53 Basta kontrakt
Vast v 1052 34 V =-140 Nord v Kn984 44 O =-130 Ost v 1093 4¢ O D -3500
ov ¢ EDKn8 Ingen ¢ KDKn6 NS ¢E73

#EKn1062 & ¢ v & NT #Kn32 & ¢ v & NT #EK95 & ¢ v & NT

» K1096 « DKn82 N56847 K62 «D1073 N38446 «ED74 496 N8 6 889

vE7 v K98 S56847 vED75 vK32 S38446 v K7 v D654 S86879

¢ K109532 - 087 486 +95 +108 O 105 8 8 7 + 1092 ¢ KKn864 057 454

*9 *KD8754 V87496 #D1094 #EK86 V 105 8 8 7 #Kn1032 #D7 V56454

4E754 4 E984 4 Kn1082
v DKn643 v 106 v EKn82
¢ 764 ¢ E7432 + D5

3 *75 »864

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
19 4 44DO-2 &3 500 98.0 0.0| 97 12 2¢DN= T 180 98.0 00| 9 86 3NN+1 49 630 98.0 0.0
43 2 2vyDN= v8 470 95.0 3.0| 11 35 4v V-2 +K 100 88.0 10.0| 14 10 3NN= v5 600 96.0 2.0
74 32 2¢vDS= 49 470 95.0 3.0| 27 90 3NV-2 +K 100 88.0 10.0| 27 90 3¢DO-2 & 300 93.0 5.0
11 35 3¢ V-3 v2 300 91.0 7.0| 29 79 3NO-2 2 100 88.0 10.0| 29 79 INDO-2 +8 300 93.0 5.0
40 95 44 O-3 *3 300 91.0 70| 30 3 3NV-2 +K 100 88.0 10.0| 11 35 INN+4 49 210 90.0 8.0
14 10 3#DO-1 4A 200 77.0 21.0| 46 38 3NO-2 *2 100 88.0 10.0| 47 44 INN+3 +6 180 87.0 11.0
22 50 44 O-2 vQ 200 77.0 21.0| 69 13 3NO-2 ¢+4 100 88.0 10.0| 93 39 INN+3 49 180 87.0 11.0
29 79 3#DO-1 vQ 200 77.021.0| 71 21 3NV-2 +K 100 88.0 10.0| 17 15 2NN+1 ¢4 150 75.0 23.0
56 96 44 V-2 v2 200 77.0 21.0| 73 64 3NV-2 +K 100 88.0 10.0| 18 5 1INO-3 ] 150 75.0 23.0
62 89 44 O-2 &3 200 77.0 21.0| 76 81 3NO-2 2 100 88.0 10.0| 19 4 INN+2 ¢4 150 75.0 23.0
65 23 2¢DV-1 92 200 77.0 21.0| 22 50 2¢ S= +9 90 78.0 20.0| 48 16 INN+2 ¢4 150 75.0 23.0
66 37 44 V-2 3 200 77.0 21.0| 14 10 2NO-1 *2 50 73.0 25.0| 58 36 2NN+1 v4 150 75.0 23.0
70 45 44 O-2 &3 200 77.0 21.0| 20 67 34 O-1 vT 50 73.0 25.0| 65 23 INN+2 ¢4 150 75.0 23.0
73 64 44DV-1 &3 200 77.0 21.0| 41 31 4v V-1 +K 50 73.0 25.0| 66 37 INN+2 6 150 75.0 23.0
76 81 2¢DV-1 43 200 77.0 21.0| 62 89 2NV-1 +K 50 73.0 25.0| 71 21 INN+2 &9 150 75.0 23.0
83 60 34DO-1 &3 200 77.021.0| 19 4 3¢ S-1 *9 -50 68.0 30.0| 73 64 INS+2 a7 150 75.0 23.0
92 82 3¢ V-2 v2 200 77.0 21.0| 7 61 INV= +K 90 61.037.0| 88 1 INN+2 49 150 75.0 23.0

9 86 44 V-1 vT 100 56.0 42.0| 40 95 INO= +6 90 61.0 37.0| 99 91 3v S= *T 140 64.0 34.0
24 33 2¢ V-1 43 100 56.0 42.0| 43 2 INV= +K 90 61.0 37.0| 22 50 INN+1 49 120 59.0 39.0
34 8 340-1 *3 100 56.0 42.0| 66 37 INV= +K 90 61.0 37.0| 56 96 2NN = +6 120 59.0 39.0
63 87 44 V-1 vT 100 56.0 42.0| 88 1 INV= +K 90 61.0 37.0| 63 87 INN+1 6 120 59.0 39.0
69 13 44 O-1 v6 100 56.0 42.0| 98 59 1INV= +K 90 61.0 37.0| 85 52 INN+1 +6 120 59.0 39.0
71 21 44 V-1 v2 100 56.0 42.0| 6 100 3¢DS-1 +¢5 -100 53.0 450 25 42 2v S= *T 110 51.0 47.0
75 94 44 V-1 vT 100 56.0 42.0| 99 91 4¢ S-2 a2 -100 53.0450( 30 3 2vS-= *T 110 51.0 47.0
88 1 2NO-1 v3 100 56.0 42.0| 24 33 3#0= vT -110 49.0 49.0( 41 31 2v S= 2 110 51.0 47.0
99 91 44 V-1 vT 100 56.0 42.0| 47 44 3# 0= vT -110  49.0 49.0( 97 12 24 S= 2 110 51.0 47.0
47 44 3v S-1 *9 50 44.0540| 34 8 INV+1 ¢K -120 45.0 53.0( 6 100 24 V-2 A 100 34.0 64.0
49 80 3v S-1 *9 -50 44.0 54.0| 83 60 INO+1 2 -120 45.0 53.0| 20 67 2¢ O-2 ] 100 34.0 64.0
58 36 3vS-1 *9 -50 44.0 54.0| 25 42 3#0+1 +A -130 410570 26 28 3¢ O-2 a7 100 34.0 64.0

7 61 4v S-2 &9 -100 37.0610( 63 87 3#0+1 T -130 410570 34 8 3¢ O-2 &3 100 34.0 64.0
27 90 2v S-2 *9 -100 370610 9 86 2¢vV+1 ¢K -140 250730 43 2 3¢ O-2 ] 100 34.0 64.0
46 38 3v S-2 *9 -100 370610 18 5 34 O= &7 -140 25.0 73.0| 46 38 3¢ O-2 a] 100 34.0 64.0
48 16 3v S-2 &9 -100 37.0 61.0| 48 16 34 O= ¢ A -140 25.0 73.0( 55 57 2¢DV-1 +6 100 34.0 64.0
25 42 24 O= &3 -110 320 66.0| 49 80 34 O= ¢ A -140 25.0 73.0| 69 13 3¢ O-2 8 100 34.0 64.0
18 5 2NO= v3 -120 29.0 69.0| 54 77 3v V= +K -140 25.0 73.0| 74 32 2¢DO-1 &J 100 34.0 64.0
30 3 2NO= v4 -120  29.0 69.0| 55 57 2v V+1 +K -140 250 73.0| 75 94 3¢ O-2 L) 100 34.0 64.0
17 15 34 O = vQ -140 25.0 73.0| 56 96 24 O+1 T -140 25.0 73.0( 78 84 INV-2 vT 100 34.0 64.0
68 72 24 O+1 &2 -140 25.0 73.0( 58 36 24 O+1 +T -140 25.0 73.0( 92 82 1la V-2 *A 100 34.0 64.0

6 100 2N O +1 %3 -150 18.0 80.0| 65 23 2¢v V+1  &J -140 25.0 73.0| 98 59 3¢ O-2 ] 100 34.0 64.0
20 67 2# N-3 +Q -150 18.0 80.0| 68 72 34 O= vT -140 25.0 73.0( 62 89 INN= +6 90 20.0 78.0
55 57 3vS-3 *9 -150 18.0 800 75 94 2y V+1  +K -140 250730 7 61 INO-1 *4 50 13.0 85.0
85 52 2# N-3 LN -150 18.0 80.0( 78 84 3v V= +K -140 25.0 73.0| 40 95 2¢ O-1 L) 50 13.0 85.0
97 12 2# N-3 *Q -150 18.0 80.0| 85 52 3v V= +K -140 250 73.0| 53 51 INO-1 T 50 13.0 85.0
53 51 2¢DV= ¥5 -180 12.0 86.0| 93 39 2y V+1  ¢K -140 25.0 73.0( 54 77 INV-1 *A 50 13.0 85.0
41 31 3NO= &3 -600 10.0 88.0( 17 15 2NV +1 ¢4 -150 8.090.0( 76 81 2¢ O-1 ] 50 13.0 85.0
26 28 44 O= &3 620 6.0 920( 70 45 2NO+1 44 -150 8.0 90.0( 83 60 2¢ O-1 ] 50 13.0 85.0
78 84 44 O= *3 -620 6.0920( 74 32 32 0+2 +A -150 8.0 900 70 45 2¢ O= 43 -90 6.0 92.0
93 39 44 O= vQ -620 6.0 92.0( 26 28 3v V+1 4] -170 4.0 940( 24 33 INN-1 +4 -100 2.0 96.0
54 77 34DO= &3 -730 20960 53 51 INDV= &J -180 20960 49 80 3#N-1 49 -100 2.0 96.0
98 59 5vDS-5 «9 -1100 0.0 98.0| 92 82 3vyDO= +¢K 530 0.0980( 68 72 2vS-1 *T -100 2.0 96.0

6 100 Pen/Pen -49.0 0.0
19 4 EKn943 Basta kontrakt 20 49 Basta kontrakt 21 4 Kn6 Basta kontrakt
Syd vKn 64 SD-5-1100 |Vast v DKn1084 44 V D -2 500 Nord vE972 34 OD-1100

oV ¢E7 Alla ¢ 432 NS ¢ Kn8

#K10854 & ¢ v & NT #EKn94 & ¢ v & NT #KD532 & ¢ v & NT
4« KD7 a- N51172 « EDKn8643 4102 N9 7 104 4 4432 ~E9 N4 4886
vKD982 vE10743 S51172 v7 v EK53 S 97 104 4 vDKn103 v6 S44886
+Kn963 ¢ KD105 O 7 12126 8 + 876 ¢+ D1095 035386 + K6 ¢E107542 0O 8 8 55 5
*Kn #ED32 V 7 12126 10 | #K7 #865 V35386 #Kn987  #E1064 V88555

# 108652 4 K75 4 KD10875

v 65 v 962 v K854

¢ 842 ¢ EKKn + D93

*976 #D1032 *-

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
29 15 7vDV-1 vJ 200 98.0 0.0| 29 15 3vyDN= T 730 98.0 00| 81 74 3vDV-6 «J 1400 98.0 0.0
90 51 7v V-1 s A 100 96.0 2.0| 94 33 4y N= T 620 96.0 2.0| 29 15 34DN= ¢33 730 95.0 3.0
82 4 54S-4 vK -200 940 40| 53 99 44DV-2 vQ 500 940 40| 94 33 34DS= vQ 730 95.0 3.0

3 69 5v0+1 42 -680 84.0140(| 41 7 44DV-1 ¢vQ 200 88.0 10.0| 11 46 2¢vDS= K 670 91.0 7.0
20 52 5vV+1 +A -680 84.0 14.0( 45 57 44 V-2 vQ 200 88.0 10.0| 90 51 24DS= ¢K 670 91.0 7.0
28 24 5v V+1  aA -680 84.0 140 54 58 4a V-2 vQ 200 88.0 10.0| 73 44 5¢DO-3 «K 500 88.0 10.0
48 85 5v V+1 4A -680 84.0 140(| 81 74 44DV-1 vQ 200 88.0 10.0| 92 6 3#D0O-2 «K 300 86.0 12.0
56 37 5v V+1 ¢A -680 84.0 14.0( 92 6 44 V-2 vQ 200 88.0 10.0| 93 76 34 S+2 ¢K 200 84.0 14.0
66 68 4v V+2 vJ] -680 84.0 140 11 46 44 V-1 vQ 100 74.0 240| 3 69 34 S+1 ¢K 170 80.0 18.0
73 44 5v V+1  +A -680 84.0 140( 28 24 34 V-1 vQ 100 74.0 24.0| 64 27 24 S+2 +K 170 80.0 18.0
75 10 5v V+1  ¢A -680 84.0 140( 36 8 44 V-1 vQ 100 74.0 24.0| 95 62 24 S+2 +K 170 80.0 18.0
88 38 5vV+l aA -680 84.0 140( 64 27 44 V-1 vQ 100 74.0 24.0| 40 77 24 S+1  ¢K 140 70.0 28.0
79 34 44DN-4 ¢K -800 73.0 25.0| 66 68 44 V-1 vQ 100 74.0 24.0| 50 42 24 S+1  ¢K 140 70.0 28.0
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89 26 54DS-4 #J -800 73.0 25.0| 71 12 34 V-1 vQ 100 740 24.0| 56 37 34 S= +K 140 70.0 28.0
43 22 5vDV+1 «A  -1050 68.0 30.0| 79 34 34 V-1 vQ 100 740 240| 60 63 34 S= +K 140 70.0 28.0
94 33 5vDV+1 ¢A  -1050 68.0 30.0| 86 84 44 V-1 vQ 100 740 240| 75 10 24 S+1  ¢K 140 70.0 28.0
95 62 5¢vDV+l1 4A  -1050 68.0 30.0| 90 51 44 V-1 vQ 100 740 240| 80 25 24 S+1  ¢K 140 70.0 28.0
1 59 6aDN-5 ¢Q -1100 59.0 39.0| 35 96 4v N-1 aT -100 64.0 340| 86 84 24 S+1  ¢K 140 70.0 28.0
2 67 64DS-5 #J -1100 59.0 39.0| 3 69 24 V= 2 -110 57.0 41.0| 28 24 2v S= +K 110 61.0 37.0
14 61 64aDS-5 vK  -1100 59.0 39.0| 20 52 24 V= vQ -110 57.0 41.0| 89 26 24 S= +K 110 61.0 37.0
64 27 64DS-5 vA  -1100 59.039.0( 31 9 24 V= vQ -110 57.0 41.0| 1 59 3#0-2 4K 100 58.0 40.0
81 74 64DS-5 vA  -1100 59.0 39.0| 48 85 24 V= vQ -110 57.0 41.0| 20 52 24 O= &K -90 54.0 44.0
87 23 64DN-5 vK  -1100 59.0 39.0( 55 97 24 V= vQ -110 57.0 41.0| 53 99 24 O= +Q -90 54.0 44.0
5 98 6v V= ¢A  -1430 34.0 64.0| 80 25 24 V= vQ -110 57.0 41.0| 54 58 2# O= &K -90 54.0 44.0
11 46 6v V= vJ -1430 340640 1 59 24 V+1l vQ -140 26.0 72.0| 17 91 34 S-1 +K -100 44.0 54.0
16 18 6y V= A  -1430 340640 2 67 34 V= vQ -140 26.0 72.0| 41 7 44 S-1 +K -100 44.0 54.0
17 91 6v V= A  -1430 340640 5 98 34 V= vQ -140 26.0 72.0| 47 72 34 S-1 a2 -100 44.0 54.0
19 21 6v V= vJ -1430 34.0 64.0| 14 61 34 V= vK -140 26.0 72.0| 71 12 44 S-1 +K -100 44.0 54.0
31 9 6vV= vJ -1430 34064.0| 16 18 24 V+1 vQ -140 26.0 72.0| 79 34 3v S-1 +K -100 44.0 54.0
35 96 6v V= vJ -1430 34.064.0| 17 91 24 V+1 vQ -140 26.0 72.0| 82 4 3vS-1 +K -100 44.0 54.0
36 8 6vyV= vJ -1430 34.064.0| 19 21 24 V+1 vQ -140 26.0 72.0| 87 23 34 S-1 +K -100 44.0 54.0
39 32 6y V= vJ -1430 34.064.0| 30 83 24 V+1 vQ -140 26.0 72.0| 78 13 3¢ O= +K -110 36.0 62.0
47 72 6v V= vJ -1430 34.064.0| 39 32 34 V= vQ -140 26.0 72.0| 14 61 4v S-2 +K -200 27.0 71.0
49 100 6v V= *4 -1430 34.0 64.0| 40 77 34 V= vQ -140 26.0 72.0| 16 18 4vyDN-1 A -200 27.0 71.0
50 42 6v V= 4A  -1430 34.064.0( 43 22 34 V= vQ -140 26.0 72.0| 19 21 44 S-2 +K -200 27.0 71.0
54 58 6v V= ¢A  -1430 34.0 64.0| 47 72 34 V= vQ -140 26.0 72.0| 31 9 4vS-2 ¢+A -200 27.0 71.0
55 97 6v V= *5 -1430 34.0 64.0| 49 100 34 V= vQ -140 26.0 72.0| 39 32 44DS-1 +¢K -200 27.0 71.0
60 63 6y V= ¢A  -1430 34.064.0| 50 42 24 V+1l vQ -140 26.0 72.0| 43 22 44DS-1 +¢K -200 27.0 71.0
71 12 6v V= ¢A  -1430 34.064.0| 56 37 24 V+l vQ -140 26.0 72.0| 45 57 4v S-2 +K -200 27.0 71.0
80 25 6v V= ¢A  -1430 34.064.0| 60 63 34 V= vQ -140 26.0 72.0| 48 85 3vDS-1 +¢K -200 27.0 71.0
86 84 6v V= ¢A  -1430 34.064.0| 70 65 34 V= vQ -140 26.0 72.0| 35 96 44 S-3 +K -300 17.0 81.0
93 76 6v V= A -1430 34.064.0( 73 44 34 V= vQ -140 26.0 72.0| 36 8 4v N-3 ¢+A -300 17.0 81.0
30 83 6vDV= ¢A -1660 7.0910| 78 13 3e& V= vQ -140 26.0 720 2 67 3¢DO= +Q -470 13.0 85.0
40 77 6vDV= vJ] -1660 7.091.0| 82 4 24 V+1l vQ -140 26.0 72.0| 66 68 3¢DO= 4K -470 13.0 85.0
41 7 6vDV= ¢A -1660 7.091.0( 87 23 24 V+l vQ -140 26.0 72.0| 30 83 4vDS-2 +¢K -500 6.0 92.0
45 57 6vDV= vJ -1660 7.0 91.0| 88 38 24 V+1 vQ -140 26.0 72.0| 49 100 44DS-2 vQ -500 6.0 92.0
53 99 6vDV= 4A -1660 7.091.0( 89 26 24 V+l1 vQ -140 26.0 72.0| 55 97 2vDS-2 +¢K -500 6.0 92.0
70 65 6vyDV=vJ -1660 7.0 91.0| 93 76 24 V+1 vQ -140 26.0 72.0| 70 65 4vDS-2 ¢K -500 6.0 92.0
78 13 6vDV= 4A -1660 7.0910| 95 62 24 V+1 vQ -140 26.0 72.0( 88 38 4vDN-2 +A -500 6.0 92.0
92 6 6vyDV= 4A -1660 7.091.0( 75 10 34 V+l #A -170  0.098.0| 5 98 4vDS-4 ¢K -1100 0.0 98.0
22 4987532 Basta kontrakt 23 4105 Basta kontrakt 24 4 KKn98 Basta kontrakt
Ost v D107 34 S =140 Syd v EK7532 34 V =-140 Vast v KKn75 5NTV =-460
ov + Kn8 Alla +85 Ingen 42
#92 & ¢ v & NT #ED3 & ¢ v & NT #E105 % ¢ v & NT
4104 4ED N369 95 4 KD9 4 EKn74 N6 3844 4D5 4 E1063 N26542
vK965  v4 S46995 v 104 v Kn98 S6 3844 vD103 vE82 S26542
+1073 ¢ K654 097348 ¢ KD932 ¢ EKn10 06 9595 ¢ EKKn6 ¢ 10 O 107 8 8 10
#EDKn7 41086543 V 8 7 3 3 7 #KKn2 #1096 V69595 #KKn86 #D9742 vV 117 8 8 11
4 KKn6 48632 4742
v EKn832 vD6 v 964
¢ ED92 ¢ 764 + D98753
*K #8754 %3
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
68 24 4v S+1  +8 450 98.0 0.0| 27 97 2¢DS= ¢K 670 970 10| 41 35 3¢ O-3 v9 150 98.0 0.0
88 91 4v S= aT 420 96.0 2.0| 95 13 2vDN= ¢A 670 97.0 10| 47 14 3NV-1 5 50 96.0 2.0
28 21 44DO-1 vA 200 93.0 5.0| 43 57 3NV-4 vA 400 930 5.0| 36 79 2#0+3 4 -150 94.0 4.0
59 20 24 S+3 ¢4 200 93.0 5.0(100 85 3NV-4 vA 400 93.0 50| 88 91 INV+4 v4 -210 920 6.0
7 54 24 S+2 44 170 80.0 18.0| 7 54 3NV-3 v3 300 89.0 90| 6 83 2¢DS-2 +A -300 90.0 8.0
9 62 24 N+2 ¢4 170 80.0 18.0| 41 35 3#V-3 vA 300 89.0 9.0| 33 78 3NV= *4 -400 81.0 17.0
29 5 3vS+l v3 170 80.0 18.0| 23 38 2v N= v8 110 84.0 14.0| 46 30 3NV= *4 -400 81.0 17.0
41 35 2v S+2 AT 170 80.0 180 29 5 2vyN= +K 110 84.0 140| 65 52 5# V= 4 -400 81.0 17.0
44 34 34 N+1 46 170 80.0 18.0| 75 26 2v N= s A 110 84.0 140| 71 60 3NV= 8 -400 81.0 17.0
50 84 2v S+2 T 170 80.0 18.0| 33 78 INV-1 v3 100 75.0 23.0| 72 15 54 0= v9 -400 81.0 17.0
53 64 34 N+1 &4 170 80.0 18.0| 47 14 44 V-1 vA 100 75.0 23.0| 73 70 3NV= 4 -400 81.0 17.0
65 52 1lv S+3 7 170 80.0 18.0| 50 84 4¢ V-1 vA 100 75.0 23.0| 89 37 3NV= 8 -400 81.0 17.0
72 15 3v S+1  #A 170 80.0 18.0| 73 70 4¢ V-1 vA 100 75.0 23.0| 94 10 3NV= v7 -400 81.0 17.0
73 70 2v S+2 T 170 80.0 18.0| 88 91 44 V-1 vA 100 75.0 23.0| 3 61 3NV+l ¢4 -430 52.0 46.0
81 48 2v S+2 v5 170 80.0 18.0| 93 22 44 O-1 vQ 100 75.0 23.0| 7 54 3NV+l ¢4 -430 52.0 46.0
3 61 24 N+1 &9 140 52.0 46.0| 12 40 INV= v5 -90 68.0 30.0f 9 62 3NV+1 ¢4 -430 52.0 46.0
6 83 1lv S+2 T 140 52.0 46.0| 3 61 3¢ V= vA -110 54.0 440| 16 82 3NV+1l ¢4 -430 52.0 46.0
12 40 34 N= *K 140 52.0 46.0| 17 98 3¢ V= vA -110 54.0 44.0| 17 98 3NV+1 ¢4 -430 52.0 46.0
16 82 3vS= aT 140 52.0 46.0| 19 11 3¢ V= vA -110 54.0 44.0| 23 38 3NV+1l &5 -430 52.0 46.0
17 98 34 N= v5 140 52.0 46.0| 28 21 3¢ V= vA -110 54.0 44.0| 27 97 3NV+1 49 -430 52.0 46.0
23 38 3vS= *7 140 52.0 46.0| 32 80 3¢ V= vA -110 54.0 440( 29 5 3NV+1 v7 -430 52.0 46.0
27 97 2v S+1 T 140 52.0 46.0| 36 79 2¢ V+1 vA -110 54.0 44.0| 32 80 3NO+1 v4 -430 52.0 46.0
32 80 3vS= *A 140 52.0 46.0| 44 34 3¢ V= vA -110 54.0 44.0| 43 57 3NV+l 49 -430 52.0 46.0
45 2 3vS= *A 140 52.0 46.0| 46 30 3¢ V= vA -110 54.0 440( 49 69 3NV+1 ¢4 -430 52.0 46.0
46 30 2v S+1  &T 140 52.0 46.0| 53 64 3¢ V= vK -110 54.0 44.0| 50 84 3NV+1 49 -430 52.0 46.0
47 14 1v S+2 &7 140 52.0 46.0| 68 24 2¢ V+1 vA -110 54.0 44.0| 55 87 3NV+l 438 -430 52.0 46.0
55 87 1lv S+2 T 140 52.0 46.0| 72 15 3¢ V= vA -110 54.0 440| 59 20 3NV+1 ¢4 -430 52.0 46.0
63 77 3vS= *A 140 52.0 46.0| 74 42 3¢ V= vA -110 54.0 44.0| 67 51 3NV+l1 3 -430 52.0 46.0
71 60 3vS= *A 140 52.0 46.0| 86 66 3¢ V= vK -110 54.0 440| 68 24 3NV+1l 48 -430 52.0 46.0
89 37 24 N+1 ¢6 140 52.0 46.0| 63 77 3¢ V+1 vA -130 39.0 59.0| 74 42 3NV+1 49 -430 52.0 46.0
92 18 24 N+1 &2 140 52.0 46.0| 76 39 3¢ V+1 vA -130 39.0 59.0| 76 39 3NV+1l &5 -430 52.0 46.0
100 85 34 N= *6 140 52.0 46.0| 55 87 34 O= vQ -140 320 66.0| 81 48 3NV+l ¢4 -430 52.0 46.0
36 79 1lv S+1 T 110 31.0670| 56 8 24 O+1 vQ -140 320 66.0( 95 13 3NV+1 ¢4 -430 52.0 46.0
43 57 2v S= aT 110 31.0 67.0| 67 51 34 V= vA -140 32.066.0| 96 31 3NV+1l 2 -430 52.0 46.0
49 69 2v S= *A 110 31.067.0| 81 48 34 O= vQ -140 320 66.0| 12 40 3NO+2 49 -460 19.0 79.0
56 8 24 S= v4 110 31.067.0| 90 1 34 0= vQ -140 32.066.0( 19 11 3NV+2 v7 -460 19.0 79.0
58 4 1lvS= 45 80 260 720| 6 83 24 V+2 vA -170  21.0 77.0| 44 34 3NV+2 &5 -460 19.0 79.0
19 11 3vsSs-1 *K -50 17.0 81.0( 49 69 24 O+2 vQ -170 21.077.0| 56 8 3NV+2 v7 -460 19.0 79.0
33 78 44 N-1 v4 -50 17.081.0| 58 4 34 O+l vQ -170 210 77.0( 58 4 3NV +2 49 -460 19.0 79.0
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67 51 44 N-1 &3 -50 17.0 81.0| 59 20 24 V+2 YA -170 21.0 77.0| 63 77 3NV +2 ¢+ 4 -460 19.0 79.0
74 42 44 N-1 +5 -50 17.0 81.0| 65 52 24 O+2 ¢Q -170 21.0 77.0| 75 26 3NV +2 v5 -460 19.0 79.0
90 1 3vS-1 *A -50 17.0 81.0| 94 10 34 V+1 vA -170 21.0 77.0| 86 66 3NV +2 v5 -460 19.0 79.0
93 22 4v S-1 +3 -50 17.0 81.0| 96 31 3vyDN-1 &6 -200 14.084.0( 90 1 3NV+2 &5 -460 19.0 79.0
96 31 4v S-1 &A 50 17.0 81.0| 9 62 44 V= vA -620 6.0 92.0( 93 22 3NV +2 v5 -460 19.0 79.0
99 25 4v S-1 a4 -50 17.0 81.0| 16 82 44 O= vQ -620 6.0 920| 99 25 3NO+2 +3 -460 19.0 79.0
75 26 3vyDS-1 oT -100 7.0910| 45 2 44 0= vK -620 6.0 92.0|100 85 3NV +2 48 -460 19.0 79.0
94 10 3v N-2 &A -100 7.0 91.0| 71 60 44 O= vQ -620 6.0 920| 45 2 3NV +3 v5 -490 6.0 92.0
76 39 340+l v2 -130 3.0 95.0| 89 37 44 V= vK -620 6.0 920| 28 21 3¢DS-3 4Q -500 3.0 95.0
86 66 3#O0O+1 YA -130 3.0950| 92 18 44 O= v7 -620 6.0 920| 92 18 3¢DS-3 +¢K -500 3.0 95.0
95 13 4v S-3 T -150 0.0 98.0| 99 25 44 O= vQ -620 6.0 920| 53 64 4¢DN-5 4Q -1100 0.0 98.0
25 4 EKn75 Basta kontrakt 26 4 K43 Basta kontrakt 27 474 Basta kontrakt
Nord v 108 34 N =140 Ost vK2 54 O =-650 Syd v ED86 34 V =-140
oV + K9754 Alla ¢ EKn73 Ingen + K7654
+Kn4 & ¢ v & NT #Kn943 & ¢ v & NT *73 & ¢ v & NT
« D982 .- N59 297 4D1052 &4 EKn76 N3 3423 4 K1082 4 EKn5 N2 3844
vKKn9764 vE53 S58297 vE96 vD75 S33423 vK vKn9 S24845
+10 ¢ 8632 07 3934 +10 ¢ KD985 O 9 109 1110 ¢ ED92 ¢ Kn1083 0109 5 9 7
D5 #K87632 V73934 #EK1085 #6 V 10109 1110 #ED65 #Knl1092 vV 109 4 9 7
4 K10643 »98 « D963
vD2 vKn10843 v 1075432
¢ EDKn ¢ 642 .-
«E109 «D72 *K84
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
93 67 5¢DV-9 T 2600 98.0 0.0| 31 79 3NV-1 vJ] 100 98.0 00| 6 62 3vyDS+1 &2 630 98.0 0.0
25 51 44DS= ¥5 590 96.0 2.0| 37 75 3NV= 3 -600 94.0 4.0 38 71 4vDN= A 590 96.0 2.0
73 11 44 S+2 T 480 940 40| 53 13 3NO= vT -600 94.0 4.0 39 42 3vyDS= +A 530 94.0 4.0
60 5 44 S+1 T 450 88.0 10.0| 63 84 3NO= vJ] -600 94.0 4.0(100 43 44DV-3 vA 500 92.0 6.0
66 9 44 S+1 T 450 88.0 10.0| 15 44 4e V= &4 -620 84.0 140 37 75 5¢ V-6 +5 300 90.0 8.0
69 46 44 S+1  v6 450 88.0 10.0| 38 71 4e V= 43 -620 84.0 14.0( 29 32 44 V-4 &7 200 86.0 12.0
8l 22 44 S+1 T 450 88.0 10.0| 59 48 44 O= vJ] -620 84.0 140 60 5 3NO-4 v3 200 86.0 12.0
89 41 44 S+1 T 450 88.0 100| 66 9 4e V= 3 -620 84.0 140 78 68 3NO-4 v3 200 86.0 12.0
4 94 44 N= *T 420 69.0 29.0| 72 99 4e V= &4 -620 84.0 14.0( 58 30 3NO-3 v5 150 81.0 17.0
10 24 44 S= *T 420 69.0 29.0| 74 77 44 V= &4 -620 84.0 14.0| 81 22 44 O-3 v3 150 81.0 17.0
15 44 44 S= *T 420 69.0 29.0| 92 64 44 V= 43 -620 84.0 140( 89 41 3v S= a2 140 78.0 20.0
39 42 44 S= *T 420 69.0 29.0| 10 24 3NV+1l &3 -630 76.0 220 4 94 3NO-2 v3 100 69.0 29.0
49 8 44 S= *T 420 69.0 29.0| 4 94 44 V+1 #4 -650 54.0 44.0( 19 87 2NO-2 v3 100 69.0 29.0
53 13 44 S= v6 420 69.0 29.0| 19 87 44 V+1 3 -650 54.0 440 20 98 44 V-2 vA 100 69.0 29.0
63 84 44 S= *T 420 69.0 29.0| 33 26 44 O+1 +¢A -650 54.0 44.0( 33 26 3NV-2 ¢+ 4 100 69.0 29.0
74 77 44 S= v6 420 69.0 29.0| 35 7 44 O+1 vJ -650 54.0 440 53 13 2N O-2 v7 100 69.0 29.0
76 65 44 S= *Q 420 69.0 29.0| 39 42 44 V+1 43 -650 54.0 440 63 84 5¢DV-1 ©vA 100 69.0 29.0
78 68 44 S= v9 420 69.0 29.0| 40 34 44 V+1 &3 -650 54.0 440 66 9 3NO-2 v6 100 69.0 29.0
80 57 44 S= v2 420 69.0 29.0| 47 56 44 V+1 #4 -650 54.0 44.0( 93 67 5¢ V-2 a7 100 69.0 29.0
82 88 44 S= *T 420 69.0 29.0| 49 8 44 V+1l &4 -650 54.0 440( 17 3 3NV-1 +5 50 55.0 43.0
91 2 44 S= v9 420 69.0 29.0| 54 36 44 V+1 43 -650 54.0 440( 40 34 34 V-1 &7 50 55.0 43.0
96 16 44 S= v4 420 69.0 29.0| 60 5 44 V+1 43 -650 54.0 44.0( 47 56 3NV-1 a7 50 55.0 43.0
35 7 3NS= *T 400 53.0 45.0| 70 21 44 V+1 &3 -650 54.0 440( 70 21 3¢ V-1 &7 50 55.0 43.0
95 14 3NN= &2 400 53.0 45.0| 73 11 44 O+1 vJ -650 54.0 440( 73 11 44 V-1 &7 50 55.0 43.0
70 21 34 N+2 T 200 50.0 48.0| 76 65 44 V+1 #4 -650 54.0 44.0( 95 14 44 V-1 &3 50 55.0 43.0
28 1 24 S+2 v6 170 47.0 51.0( 78 68 44 V+1 43 -650 54.0 440 15 44 3vy N-1 vJ] -50 47.0 51.0
97 45 34 S+1 T 170 47.0 51.0 80 57 44 V+1 43 -650 54.0 440 92 64 4v N-1 +J -50 47.0 51.0
33 26 3¢ N+1 v3 130 44.0 54.0 | 81 22 44 O+1 vJ -650 54.0 440 31 79 4¢vyDS-1 46 -100 37.0 61.0
6 62 44 S-1 *T -50 30.0 68.0| 82 88 44 V+1 44 -650 54.0 440 35 7 4vyDS-1 48 -100 37.0 61.0
17 3 44 S-1 *T -50 30.0 68.0| 83 23 44 V+1 43 -650 54.0 440 49 8 4vyDS-1 48 -100 37.0 61.0
18 27 44 S-1 L Jo) -50 30.0 68.0| 95 14 44 V+1 44 -650 54.0 440 59 48 4vDS-1 +A -100 37.0 61.0
19 87 44 S-1 *T -50 30.0 68.0| 96 16 44 O+1 vJ -650 54.0 440( 74 77 4vyDS-1 48 -100 37.0 61.0
20 98 44 S-1 *0Q -50 30.0 68.0| 97 45 44 V+1 43 -650 54.0 440 80 57 4vDS-1 v¥K -100 37.0 61.0
29 32 44 S-1 *T -50 30.0 68.0| 17 3 3NV +2 v] -660 31.0 67.0( 82 88 4vDS-1 +A -100 37.0 61.0
31 79 44 S-1 v7 -50 30.0 68.0| 20 98 3NO+2 vJ -660 31.0 67.0( 97 45 4¢vyDN-1 9 -100 37.0 61.0
37 75 34 S-1 *T -50 30.068.0| 6 62 44 V+2 &4 -680 14.0 84.0( 10 24 3¢ V= &7 -110 28.0 70.0
47 56 34 S-1 *T -50 30.0 68.0| 18 27 44 V+2 ¢K -680 14.0 84.0( 18 27 44 0= vA -130 24.0 74.0
54 36 4¢ S-1 v6 -50 30.0 68.0| 25 51 44 V+2 43 -680 14.0 840 55 86 4% V= a7 -130 24.0 74.0
55 86 44 S-1 *T -50 30.068.0| 28 1 44 V+2 43 -680 14.0 84.0( 61 12 3¢ O+1 &7 -130 24.0 74.0
58 30 44 S-1 *0Q -50 30.0 68.0| 29 32 44 V+2 ¢K -680 14.0 840 76 65 44O +1 46 -150 20.0 78.0
85 50 44 S-1 v6 -50 30.0 68.0| 55 86 44 V+2 45 -680 14.0 840 25 51 3NV= v6 -400 10.0 88.0
61 12 284V = vT -90 16.0 82.0| 58 30 44 V+2 &4 -680 14.0840( 28 1 3NO= v3 -400 10.0 88.0
59 48 44 S-2 v4 -100 12.0 86.0| 61 12 44 V+2 46 -680 14.0 84.0( 69 46 5# V= a7 -400 10.0 88.0
72 99 2¢ N-2 +8 -100 12.0 86.0| 69 46 44 O+2 45 -680 14.0 840 72 99 54V = vA -400 10.0 88.0
83 23 3NS- ¢2 -100 12.0 86.0| 85 50 44 V+2  #4 -680 14.0 84.0( 83 23 54 O = &2 -400 10.0 88.0
38 71 3vyV+2 & -200 8.0 90.0| 89 41 44 V+2 &3 -680 14.0 84.0| 85 50 3NV= +4 -400 10.0 88.0
92 64 2¢vDO= vQ -670 6.0 920| 90 52 44 V+2 &2 -680 14.0 84.0| 90 52 3NV = *4 -400 10.0 88.0
100 43 2vDV+1 #J -870 4.094.0( 91 2 4eV+2 vK -680 14.084.0( 91 2 540= v5 -400 10.0 88.0
40 34 2vyDV+3 #J -1270 2.0 96.0| 93 67 44 V+2 &4 -680 14.0 84.0( 96 16 3NO= 43 -400 10.0 88.0
90 52 2¢vyDV+4 & -1470 0.0 98.0 |100 43 44 V+2 43 -680 14.0 840 54 36 4¢DV= vA -510 0.0 98.0
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28 4109854 Basta kontrakt 29 4103 Basta kontrakt 30 4 E942 Basta kontrakt
Vast vKD1085 64 V D -3 500 Nord v EK64 5¢ O =-600 Ost v EDKn7 4¢ S =130
NS * K2 Alla + D98 Ingen + D83
*6 & ¢ v & NT «E1092 & ¢ v & NT *E6 & ¢ v & NT
& - ~ K76 N3 7 8 114 28 #EKKN9754 N 7 1 5 4 8 & Kn87 «D1065 N 8 108 7 7
v 92 v EKn64 S 38 9 114 vDKn10732 v- S61537 vK10963 v82 S 8 108 7 7
¢ 965 ¢ DKn10 093416 ¢ 10753 ¢ EKKn4 04 117 9 5 ¢ EKn5 + 104 053454
#DKn1098532 #EK4 V934186 »54 *87 V 4 117 9 5 +D10 #KKn875 V534675
4 EDKn32 4 D62 4 K3
v73 v 985 v54
+ E8743 ¢ 62 + K9762
*7 #KDKn63 #9432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
32 22 44DS+2 v9 1190 98.0 0.0| 69 41 54D0O-2 «K 500 98.0 0.0| 38 99 2vDV-3 3 500 97.0 1.0
47 3 54DS+1 ¥9 1050 96.0 20| 21 5 44 0-2 *K 200 92.0 6.0| 87 60 3vDV-3 #A 500 97.0 1.0
11 57 44DN+1 #A 990 93.0 50| 46 12 44DO-1 &K 200 920 6.0| 79 56 3NN+1 8 430 93.0 5.0
74 45 44DS+1 2Q 990 93.0 50| 47 3 44DO-1 K 200 920 6.0| 93 80 3NN+1 v4 430 93.0 5.0
9 13 54DS= #Q 850 84.0 14.0| 49 94 44 O-2 *K 200 92.0 6.0| 20 27 3NN= *4 400 88.0 10.0
19 92 54DS= #Q 850 84.0 140| 73 76 44DO-1 «K 200 92.0 6.0| 74 45 3NN= v8 400 88.0 10.0
21 5 54DS= #Q 850 84.0 140| 6 86 44 O-1 &K 100 67.0 31.0| 89 30 3NN= v8 400 88.0 10.0
29 65 54DS= 43 850 84.0 140| 9 13 44 0-1 *K 100 67.0 31.0| 35 24 INN+4 8 210 84.0 14.0
35 24 54DS= #Q 850 84.0 14.0| 11 57 44 O-1 *K 100 67.0 31.0| 77 52 INDN= &7 180 82.0 16.0
38 99 54DS= 2Q 850 84.0 140| 17 63 44 O-1 &K 100 67.0 31.0| 6 86 INS+2 &7 150 71.0 27.0
64 71 54DS= #Q 850 84.0 140| 19 92 44 O-1 *K 100 67.0 31.0| 7 70 INN+2 8 150 71.0 27.0
26 10 44 S+1  #Q 650 75.0 23.0| 20 27 44 O-1 *K 100 67.0 31.0| 29 65 INN+2 8 150 71.0 27.0
85 66 54 S= v9 650 75.0 23.0| 23 82 44 O-1 &K 100 67.0 31.0| 34 96 INN+2 v2 150 71.0 27.0
48 51 64DV-2 44 300 70.0 28.0| 25 43 44 O-1 *Q 100 67.0 31.0| 40 44 INN+2 &7 150 71.0 27.0
81 39 64DV -2 T 300 70.0 28.0| 26 10 44 O-1 &K 100 67.0 31.0| 49 94 INN+2 v8 150 71.0 27.0
97 1 6#DV-2 ¢K 300 70.0 28.0| 37 58 2v O-1 &K 100 67.0 31.0| 54 33 INN+2 &5 150 71.0 27.0
17 63 3NO-3 ¢4 150 65.0 33.0| 42 67 44 O-1 *K 100 67.0 31.0| 62 16 2NN+1 +v8 150 71.0 27.0
42 67 3NO-3 ¢ A 150 65.0 33.0| 48 51 44 O-1 &K 100 67.0 31.0| 64 71 INN+2 ¢8 150 71.0 27.0
46 12 5#DV-1 K 100 56.0 42.0| 50 98 44 O-1 &K 100 67.0 31.0| 88 18 INN+2 8 150 71.0 27.0
53 8 6#0-2 ¢ A 100 56.0 42.0| 53 8 44 O-1 *Q 100 67.0 31.0| 11 57 3¢ S+1 a7 130 54.0 44.0
55 28 5#V-2 vK 100 56.0 42.0| 74 45 44 O-1 *K 100 67.0 31.0| 31 4 3¢ S+1 &7 130 54.0 44.0
84 91 6+ 0-2 vK 100 56.0 42.0| 81 39 44 O-1 &K 100 67.0 31.0| 42 67 2¢ S+2 #Q 130 54.0 44.0
89 30 6#V-2 vK 100 56.0 42.0| 85 66 44 O-1 *K 100 67.0 31.0| 46 12 3¢ S+1 a7 130 54.0 44.0
93 80 5#V-2 vK 100 56.0 42.0| 88 18 44 O-1 &K 100 67.0 31.0| 50 98 3¢ S+1 #Q 130 54.0 44.0
100 2 54DV-1 ¢K 100 56.0 42.0| 93 80 44 O-1 &K 100 67.0 31.0| 72 59 2¢ S+2 &7 130 54.0 44.0
7 70 5#V-1 oT 50 35063.0| 97 1 440-1 *K 100 67.0 31.0| 73 76 2¢ N+2 #Q 130 54.0 44.0
15 68 5# V-1 vK 50 35.063.0| 32 22 3¢ O+1 &K -130 46.0 52.0( 25 43 INN+1 &5 120 42.0 56.0
20 27 5#V-1 vK 50 35.0 63.0| 34 96 34 V= &K -140 40.0 580 47 3 INN+1 &7 120 42.0 56.0
23 82 5#V-1 vK 50 35.0 63.0| 40 44 34 O= *K -140 40.0580( 53 8 INN+l1 +8 120 42.0 56.0
31 4 5&V-1 vK 50 35.063.0| 79 56 24 O+1 v9 -140 40.0 580 81 39 INN+1 &5 120 42.0 56.0
34 96 5#V-1 vK 50 35.063.0| 84 91 34 O= &K -140 40.0580( 97 1 INN+1 &5 120 42.0 56.0
37 58 5#V-1 vK 50 35.0 63.0| 90 83 34 O= *K -140 40.0 580 9 13 2¢ S+1 &7 110 34.0 64.0
40 44 5#V-1 vK 50 35.0 63.0| 54 33 3¢ O+2 «K -150 34.0640( 19 92 3¢ S= vT 110 34.0 64.0
61 95 6#V-1 vK 50 35063.0| 7 70 34 O+1 «K -170 320 66.0( 48 51 2¢ S+1 #Q 110 34.0 64.0
69 41 5#V-1 vK 50 35.0 63.0| 61 95 5# N-2 s A -200 30.0 68.0| 15 68 2# O-2 oK 100 30.0 68.0
72 59 5#V-1 vK 50 35.0 63.0| 35 24 54DN-2 ¢A -500 28.0 70.0( 17 63 INN= &7 90 23.0 75.0
87 60 5#V-1 vQ 50 35.0 63.0| 62 16 5¢ V= vA -600 26.0 720( 21 5 INN= v8 90 23.0 75.0
88 18 5# V-1 vK 50 35.0 63.0| 29 65 44 O= *K -620 15.0 83.0( 37 58 INN= 46 90 23.0 75.0
90 83 5#V-1 vK 50 35063.0| 31 4 44 0= +6 -620 15.0 83.0( 69 41 INN= &7 90 23.0 75.0
25 43 64DS-1 &5 -200 19.0 79.0( 36 14 4e4 V= &K -620 15.0 83.0( 75 78 INN= &5 90 23.0 75.0
49 94 5vyDN-1 A -200 19.0 79.0| 38 99 44 O= *K -620 15.0 83.0( 85 66 INN= &5 90 23.0 75.0
54 33 5#V-= +K -400 14.0 84.0| 55 28 44 O= &K -620 15.0 83.0( 26 10 24 O-1 &2 50 16.0 82.0
77 52 5#V= vK -400 14.0 840 | 64 71 44 O= &K -620 15.0 83.0( 32 22 INN-1 &5 -50 13.0 85.0
79 56 5# 0= s A -400 14.0 84.0| 72 59 44 O= *K -620 15.0 83.0( 84 91 2NN-1 *7 -50 13.0 85.0
6 86 3NO+1 a2 -430 6.0 920 75 78 44 O= &K -620 15.0 83.0| 36 14 14 O= v5 -80 10.0 88.0
36 14 4ANO= s A -430 6.0 920 87 60 44 O= &K -620 15.0 83.0( 23 82 INN-2 &7 -100 4.0 94.0
50 98 3NO+1 ) -430 6.0 92.0(100 2 44 O= *K -620 15.0 83.0( 55 28 3NN-2 46 -100 4.0 94.0
62 16 3NO+1 a2 -430 6.0 920 15 68 44 O+1 &K -650 4.0 940( 61 95 3NN-2 a4 -100 4.0 94.0
75 78 3NO+1 &A 430 6.0920(| 89 30 3¢aDO= &K 730 2.096.0( 90 83 INN-2 &5 -100 4.0 94.0
73 76 3NO+3 4] -490 0.0 98.0| 77 52 44DO= &K -790 0.0 98.0(100 2 5¢ S-2 a7 -100 4.0 94.0
31 4 Kn8 Basta kontrakt 32 4 E1052 Basta kontrakt 33 4 E£1098743 Basta kontrakt
Syd v ED876 4v S =620 Vast v E95 54 N =450 Nord vD 44 ND-1-100
NS + K98 ov ¢ ED52 Ingen + K3
*EK8 & ¢ v & NT +106 & ¢ v & NT #1032 & ¢ v & NT
a2 » EK643 N 6 8 109 9 a7 49 N5 7 6 117 a2 46 N3 3393
vKnl1052 v3 S 68 109 9 v10762 v KKn4 S57 6 117 v EKn5 v K87432 S$33393
¢ Kn1074 ¢ D63 065322 ¢ K764 ¢+ Kn98 0856 23 +D98754 ¢ 106 0 109 9 4 4
#DKn96 #7542 V65322 #KDKn2 #E87543 V85623 *K75 #EDKn4 vV 109 9 4 4
4 D10975 « KDKn8643 4 KDKn5
v K94 v D83 v 1096
¢ E52 4103 ¢ EKn2
«103 *9 #986
Par Kontr Ut Res Poang Par Kontr Res Poang Par Kontr Ut Res Poang
23 59 24DO-4 3 800 98.0 0.0| 14 89 54DO-4 +T 1100 98.0 0.0| 71 86 44 N= *T 420 98.0 0.0
1 48 3NN+2 &7 660 940 4.0| 55 90 5#4DO-3 T 800 96.0 2.0| 34 91 6v O-3 oK 150 96.0 2.0
24 75 3NN+2 &A 660 94.0 4.0| 33 68 54D O-2 K 500 940 4.0| 25 57 34 N= v3 140 93.0 5.0
37 44 3NS+2 +4 660 940 40| 1 48 44 N+1 8 450 63.0 35.0| 58 78 34 N= v3 140 93.0 5.0
17 46 4v N+1 4A 650 88.0 10.0| 2 76 44 N+1 #A 450 63.0 35.0| 14 89 5v O-2 oK 100 84.0 14.0
20 60 4v N+1  4A 650 88.0 10.0| 5 40 44 S+1 «K 450 63.0 35.0| 20 60 5¢ V-2 s A 100 84.0 14.0
93 50 4v N+1 4A 650 88.0 10.0| 9 96 44 N+1 38 450 63.0 35.0| 22 52 6v O-2 oK 100 84.0 14.0
2 76 3NS+1 a2 630 78.0 20.0| 11 72 44 S+1 #K 450 63.0 35.0| 24 75 5¢ V-2 oA 100 84.0 14.0
5 40 3NN+1 &7 630 78.0 20.0| 12 87 44 S+1 «K 450 63.0 35.0| 43 80 5vDO-1 K 100 84.0 14.0
12 87 3NN+1 &K 630 78.0 20.0| 13 7 44 S+1 «K 450 63.0 35.0| 53 38 5vDO-1 K 100 84.0 14.0
55 90 3NN+1 43 630 78.0 20.0| 16 45 44 S+1  #K 450 63.0 35.0| 92 36 5vDV-1 &K 100 84.0 14.0
58 78 3NN+1 43 630 78.0 20.0| 17 46 54 S= &K 450 63.0 35.0| 16 45 5v O-1 oK 50 64.0 34.0
64 4 3NN+1 46 630 78.0 20.0| 19 83 44 N+1 8 450 63.0 35.0| 17 46 5# V-1 s A 50 64.0 34.0




67 27 3NS+1 42 630 78.0 20.0| 20 60 44 N+1 &A 450 63.0 35.0| 19 83 5vO-1 4K 50 64.0 34.0
11 72 4y N= +A 620 61.0 37.0| 22 52 44 S+1 #Q 450 63.0350| 21 8 5v0-1 A 50 64.0 34.0
14 89 4y N= aK 620 61.0 37.0| 23 59 44 N+1 8 450 63.0 35.0| 23 59 5v O-1 &K 50 64.0 34.0
25 57 4v N= +A 620 61.0 37.0| 26 35 44 N+1 #K 450 63.0 35.0| 30 94 5v V-1 +A 50 64.0 34.0
30 94 4v N= +A 620 61.0 37.0| 30 94 44 S+1 &K 450 63.035.0| 31 85 5vO0-1 4Q 50 64.0 34.0
31 85 4v N= oA 620 61.0 37.0| 34 91 44 N+1 #A 450 63.0 35.0| 63 74 5v O-1 &K 50 64.0 34.0
61 79 4v N= +A 620 61.0 37.0| 37 44 44 S+1 &K 450 63.0 35.0| 67 27 5vO-1 4K 50 64.0 34.0
65 32 4v N= +A 620 61.0 37.0| 43 80 44 S+1 &K 450 63.0 35.0| 70 15 5v O-1 &K 50 64.0 34.0
66 98 4v N= oA 620 61.0 37.0| 53 38 44 S+1 &K 450 63.0 35.0| 73 39 5v O-1 &K 50 64.0 34.0
81 29 4v N= +A 620 61.0 37.0| 58 78 44 S+1 &K 450 63.0 35.0| 84 41 5vO0-1 4K 50 64.0 34.0
99 3 4v N= 4A 620 61.0 37.0| 61 79 44 N+1 #A 450 63.0 35.0{100 51 5v O-1 &K 50 64.0 34.0
26 35 3NS= «Q 600 43.0 55.0| 62 28 44 S+1 &K 450 63.0 35.0| 5 40 44 N-1 *T -50 43.0 55.0
42 88 3NN= *4 600 43.055.0| 63 74 44 S+1 &K 450 63.0 35.0| 11 72 44 N-1 *T -50 43.0 55.0
43 80 3NS= +«Q 600 43.0 55.0| 66 98 44 S+1 &K 450 63.0 35.0| 12 87 44 N-1 v8 -50 43.0 55.0
49 56 3NN-= *4 600 43.0550| 69 6 44 S+1 &A 450 63.0 35.0| 13 7 44 N-1 *T -50 43.0 55.0
71 86 3NN= +6 600 43.055.0| 70 15 44 S+1 &K 450 63.0 35.0| 42 88 44 N-1 *T -50 43.0 55.0
77 82 3NS= +«Q 600 43.0 55.0| 81 29 44 S+1 &K 450 63.0 35.0| 49 56 44 N-1 *T -50 43.0 55.0
84 41 3NN= *5 600 43.055.0| 92 36 44 S+1 &K 450 63.0 35.0| 93 50 44 N-1 *T -50 43.0 55.0
97 18 3NN= *4 600 43.0 55.0| 97 18 44 S+1 &K 450 63.0 35.0| 95 47 54 N-1 v2 -50 43.0 55.0
19 83 24DO-3 v4 500 32066.0| 99 3 44 S+1 &K 450 63.0 35.0| 2 76 54 N-2 v2 -100 25.0 73.0
53 38 24DO-3 v9 500 32.0 66.0| 42 88 44 S= K 420 23.075.0| 9 96 44 N-2 v4 -100 25.0 73.0
92 36 24DO-3 T 500 32.066.0| 54 10 44 N= A 420 23.0 75.0| 26 35 54 N-2 42 -100 25.0 73.0
34 91 3«DV-2 #A 300 270 710| 64 4 44 S= &K 420 23.0750| 33 68 54DS-1 +38 -100 25.0 73.0
100 51 34DO-2 #3 300 27.0 71.0| 67 27 44 S= K 420 23.0 75.0| 61 79 54 N-2 vA -100 25.0 73.0
13 7 3vy N+l 4A 170 21.077.0| 73 39 44 S= K 420 23.0750| 64 4 44 N-2 v3 -100 25.0 73.0
62 28 3v N+1 4A 170 210 77.0| 77 82 44 S= K 420 23.0 75.0| 65 32 54 N-2 v7 -100 25.0 73.0
63 74 3v N+1 3 170 210 77.0| 84 41 44 N= A 420 23.0 75.0| 66 98 54 N-2 v6 -100 25.0 73.0
95 47 2v N+2 4A 170 21.077.0| 93 50 44 S= K 420 23.0750| 69 6 54 N-2 v3 -100 25.0 73.0
21 8 INS+2 #Q 150 16.0 82.0| 95 47 44 S= &K 420 23.0750| 99 3 44 N-2 v3 -100 25.0 73.0
33 68 3#V-2 L)) 100 14.0 84.0 (100 51 44 N= a3 420 23.0 75.0| 81 29 54 N-3 v3 -150 14.0 84.0
9 96 4v N-1 4K -100 7.091.0( 24 75 34 S+2 &K 200 11.0 87.0| 37 44 54DN-2 3 -300 7.0 91.0
16 45 4v N-1 &K -100 7.0 91.0| 65 32 24 S+3 &K 200 11.0 87.0| 54 10 54DN-2 3 -300 7.0 91.0
22 52 4v N-1 &K -100 7.0 91.0| 25 57 24 N+2  #A 170 8.0 90.0 55 90 54DN-2 v¥6 -300 7.0 91.0
54 10 3NS-1 *4 -100 7.00910| 21 8 54S-1 *K -50 4.094.0( 62 28 54DN-2 T -300 7.0 91.0
69 6 3NN-1 *6 -100 7.0 91.0| 49 56 54 N-1 +8 -50 4.094.0( 77 82 54DN-2 T -300 7.0 91.0
73 39 4v N-1 a A -100 7.091.0( 71 86 3v S-1 *K 50 4.00940| 97 18 54DN-2 T -300 7.0 91.0
70 15 6v N-2 +A 200 0.098.0| 31 85 4vS-2 *K -100 0.098.0| 1 48 5vDO= &K -650 0.0 98.0
34 4 E10943 Basta kontrakt 35 454 Basta kontrakt 36 & K1092 Basta kontrakt
Ost v2 4 S =650 Syd vD2 4% SD-1-100 Vast v D82 2v V =-110
NS ¢+ EK4 oV + E1043 Alla + D94
#EKn105 & ¢ v & NT #ED1073 & ¢ v & NT #ED3 % ¢ v & NT
4 K5 487 N 116 5 118 4D73 4K109862 N 9 8 7 4 6 4D4 4+ E86 N57 576
vE10843 vKD975 S 116 5 118 vKn1043 vE7 S98746 v K75 vEKNn1043 S 6 7 5 7 6
+85 ¢ DKn972 025822 ¢ 9862 ¢ KKn 045596 ¢ KKng862 ¢7 076857
#D987 3 V262822 52 *K96 V45596 *K84 10752 V7628867
4 DKn62 4 EKn 4Kn753
v Kn6 v K9865 v 96
¢ 1063 ¢+ D75 ¢ E1053
#K642 #Kng4 #Kn96
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
29 2 44DN= ©vA 790 980 00| 67 1 34DO-1 %4 200 970 10| 46 87 3v O-3 45 300 98.0 0.0
8 6 44N+2 ¢Q 680 96.0 2.0| 68 90 34DO-1 %4 200 97.0 10| 4 18 3#V-2 45 200 92.0 6.0
3 31 44 N+1 vK 650 88.0 10.0| 23 63 3v S= 43 140 93.0 50| 33 58 4v O-2 &5 200 92.0 6.0
34 69 44 N+1 43 650 88.0 10.0| 34 69 3v S= 43 140 93.0 50| 34 69 4v O-2 45 200 920 6.0
36 15 44 N+1 vK 650 88.0 100 55 5 3« N+1 vA 130 89.0 9.0| 44 89 2NO-2 3 200 92.0 6.0
55 5 44 N+1  #3 650 88.0 10.0| 85 12 3#N+1 vA 130 89.0 9.0| 73 32 3y V-2 a5 200 92.0 6.0
80 27 44 S+1 YA 650 88.0 10.0| 84 56 2NS-= 43 120 86.0 120| 55 5 34 N= *7 140 86.0 12.0
83 86 54 S= vA 650 88.0 10.0| 7 40 34 N= 49 110 81.0 17.0| 53 72 INN+1 &5 120 84.0 14.0
92 49 54 N= vK 650 88.0 10.0| 22 74 3#S= 43 110 81.0 17.0| 3 31 24 S= v5 110 81.0 17.0
7 40 44 N= 3 620 70.0 28.0| 46 87 34 N-= vA 110 81.0 17.0| 26 24 24 S= 43 110 81.0 17.0
17 21 44 N= vK 620 70.0 28.0| 88 98 34 N= *6 110 81.0170| 8 6 3vO-1 45 100 69.0 29.0
25 20 44 N= *2 620 70.0 28.0| 65 39 34 O-1 #4 100 76.0 22.0| 25 20 3vO-1 v6 100 69.0 29.0
26 24 44 S= vA 620 70.0 28.0| 9 70 3NS-1 43 -50 70.0 28.0( 42 48 2v O-1 45 100 69.0 29.0
35 10 44 N= 3 620 70.0 28.0| 36 15 3v S-1 43 -50 70.0 28.0( 47 38 3v O-1 45 100 69.0 29.0
42 48 44 N= vK 620 70.0 28.0| 75 54 2v S-1 43 50 70.0280| 67 1 INO-1 46 100 69.0 29.0
46 87 44 N= vQ 620 70.0 28.0| 97 57 3NS-1 43 -50 70.028.0( 75 54 2v0O-1 v6 100 69.0 29.0
59 11 44 N= v4 620 70.0 28.0 {100 64 3NS-1 43 -50 70.0 28.0( 79 13 3v O-1 45 100 69.0 29.0
66 60 44 N= 3 620 70.0 28.0| 35 10 3NS-2 43 -100 60.0 38.0( 81 93 3v O-1 &5 100 69.0 29.0
85 12 44 N= 3 620 70.0 28.0| 79 13 3NS-2 43 -100 60.0 38.0| 83 86 3v O-1 &7 100 69.0 29.0
100 64 44 N= vK 620 70.0 28.0| 80 27 2NS-2 43 -100 60.0 38.0| 99 16 3v O-1 &7 100 69.0 29.0
4 18 5vDO-3 «Q 500 50.0 48.0| 95 77 3NS-2 v4 -100 60.0 38.0( 76 52 INV= 49 -90 58.0 40.0
14 45 5vDO-3 4Q 500 50.0 48.0| 99 16 3v S-2 43 -100 60.0 38.0| 7 40 24 S-1 v4 -100 47.0 51.0
43 50 5vDO-3 4Q 500 50.0 48.0| 4 18 24 O+l ¥5 -140 53.0 45.0| 41 78 34 N-1 o7 -100 47.0 51.0
51 82 5vDV-3 v2 500 50.0 48.0| 33 58 24 O+1 v5 -140 53.0 45.0( 43 50 24 S-1 v5 -100 47.0 51.0
71 91 5vDO-3 4Q 500 50.0 48.0| 3 31 3NS-3 42 -150 32.0 66.0| 62 96 24 S-1 v7 -100 47.0 51.0
76 52 5vDO-3 4Q 500 50.0 48.0| 14 45 4v S-3 43 -150 32.0 66.0| 66 60 24 S-1 v5 -100 47.0 51.0
79 13 5vDO-3 «Q 500 50.0 48.0| 17 21 3NS-3 a4 -150 32.0 66.0( 68 90 24 S-1 v5 -100 47.0 51.0
97 57 5vDV-3 v2 500 50.0 48.0| 19 28 3NS-3 43 -150 32.0 66.0| 80 27 24 N-1 *7 -100 47.0 51.0
99 16 4vDO-3 4Q 500 50.0 48.0| 25 20 3NS-3 43 -150 32.0 66.0| 92 49 24 S-1 v5 -100 47.0 51.0
9 70 5vDV-2 ¢A 300 30.0 68.0| 26 24 3NS-3 «Q -150 32.0 66.0| 95 77 24 N-1 *7 -100 47.0 51.0
23 63 5vDV-2 4A 300 30.068.0| 29 2 3NS-3 43 -150 32.0 66.0| 97 57 34 N-1 +5 -100 47.0 51.0
44 89 5¢vDV-2 «A 300 30.0 68.0| 37 30 3NS-3 43 -150 32.066.0| 14 45 2v O= 46 -110 33.0 65.0
53 72 5vDV-2 4A 300 30.0 68.0| 41 78 3NS-3 43 -150 32.066.0( 17 21 2vO= a4 -110 33.0 65.0
61 94 4vDV-2 46 300 30.0 68.0| 42 48 3NS-3 43 -150 32.0 66.0| 36 15 2v O= 45 -110 33.0 65.0
65 39 5vDV-2 ¢A 300 30.0 68.0| 43 50 3NN-3 49 -150 32.0 66.0|100 64 2v O= 45 -110 33.0 65.0
68 90 4vDO-2 4Q 300 30.0 68.0| 44 89 3NS-3 3 -150 32.0 66.0( 23 63 INV+1 49 -120  27.0 71.0
81 93 4vDO-2 4Q 300 30.0 68.0| 51 82 4v S-3 +6 -150 32.0 66.0( 59 11 INV+1 49 -120 27.0 71.0
84 56 5¢DO-2 ¢A 300 30.0 68.0| 59 11 3NS-3 43 -150 32.066.0| 9 70 3vO= 43 -140 18.0 80.0
88 98 5vDV-2 ¢A 300 30.0 68.0| 62 96 2N S-3 +8 -150 32.0 66.0| 37 30 3v O= v6 -140 18.0 80.0
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95 77 4vDO-2 4Q 300 30.0 68.0| 66 60 3NS-3 45 -150 32.066.0( 65 39 2y O+1 45 -140 18.0 80.0
19 28 34 N+2 &3 200 16.0 82.0| 76 52 3NS-3 +Q -150 32.066.0( 71 91 2v O+1 45 -140 18.0 80.0
67 1 3aN+2 3 200 16.0 82.0| 81 93 3NS-3 3 -150 32.066.0( 84 56 2y V+1 46 -140 18.0 80.0
73 32 34 S+42 +8 200 16.0 82.0| 83 86 4v S-3 43 -150 32.066.0( 85 12 2v V+1 49 -140 18.0 80.0
41 78 24 N+2 &3 170 120 86.0| 8 6 24DO= &4 -670 12.0 86.0( 88 98 3v O= 45 -140 18.0 80.0
22 74 49 O-2 +Q 100 9.0 89.0| 61 94 34DV= &4 -730 9.089.0| 29 2 3vV+l 3 -170 9.0 89.0
75 54 4vDV-1 &A 100 9.0 89.0| 73 32 34DO= &4 -730 9.0 89.0| 61 94 2v O+2 &5 -170 9.0 89.0
47 38 54 S-1 vA -100 6.0 92.0| 47 38 24D O+1 #4 -870 3.0950| 19 28 24DS-1 4Q -200 3.0 95.0
33 58 44 N-2 &3 -200 2.096.0| 53 72 24DO+1 &8 -870 3.0950| 22 74 34 S-2 v5 -200 3.0 95.0
37 30 44 N-2 &3 -200 2096.0| 71 91 24DO+1 &4 -870 3.0950| 35 10 24 S-2 v5 -200 3.0 95.0
62 96 44 N-2 &3 -200 2.096.0| 92 49 24DO+1 ¥5 -870 3.0950| 51 82 34 N-2 *7 -200 3.0 95.0
37 486 Basta kontrakt 38 453 Basta kontrakt 39 4 D983 Basta kontrakt
Nord v Kn2 34 O =-140 Ost v K102 5¢ SD-1-100 Syd v ED1092 64 S =1430
NS + EKn7653 oV + D732 Alla .7
+D72 & ¢ v & NT #D853 & ¢ v & NT #E53 & ¢ v & NT
& EK7543 & Kn2 N6 7544 + E86 & KKn2 N 3 103 8 7 +10 4 Kn65 N 6 7 10129
v 64 v EKD93 S6 7544 vE96 vD8743 S 3 103 8 7 v K84 v 7653 S 7 8 10129
¢+ K4 + D98 O7 6 89 8 +8 ¢ Kn9 O 103 105 6 ¢ EKD1062 +¢9 055213
#654 #K103 V761887 #EK10974 #Kn62 V 103 9 4 6 #982 #DKn1064 V 5 5 2 1 3
« D109 4 D10974 & EK742
v 10875 v Kn5 vKn
¢ 102 + EK10654 4 Kn8543
#EKn98 »- *K7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
1 80 3NO-6 &9 300 98.0 0.0| 16 34 4¢DS+1 »A 610 98.0 0.0| 92 96 64 S= ¢A 1430 98.0 0.0
17 64 44 O-3 *T 150 950 3.0| 14 18 3¢DS= &K 470 96.0 20| 1 80 44 S+2 +¢K 680 85.0 13.0
31 7 44 V-3 vJ] 150 95.0 3.0| 78 90 3NO-3 ¢ A 300 940 40| 9 5 44 S+2 +¢K 680 85.0 13.0
11 76 44 V-2 &2 100 87.0 11.0| 4 97 6v O-2 ¢ A 200 91.0 7.0| 16 34 44 S+2 ¢A 680 85.0 13.0
19 86 44 O-2 v7 100 87.0 11.0| 82 22 24DV-1 &5 200 910 7.0| 19 86 44 S+2 +¢K 680 85.0 13.0
30 70 44 O-2 v7 100 87.0 11.0| 1 80 4¢ S+2 &K 170 88.0 10.0| 25 23 44 S+2 ¢+A 680 85.0 13.0
61 75 2N O-2 &8 100 87.0 11.0| 19 86 44 S= &K 130 81.0 17.0| 28 100 44 S+2 ¢A 680 85.0 13.0
72 38 44 O-2 v7 100 87.0 11.0| 33 36 3¢ S+1  &A 130 81.0 17.0| 50 74 44 S+2 ¢A 680 85.0 13.0
92 96 4v O-2 *T 100 87.0 11.0| 50 74 4¢ S= *A 130 81.0 17.0| 51 98 44 S+2 +¢K 680 85.0 13.0
3 77 44 O-1 v7 50 62.0 36.0| 55 68 2¢ S+2 &K 130 81.0 17.0| 52 43 44 S+2 ¢A 680 85.0 13.0
6 45 3NO-1 &9 50 62.0 36.0| 73 88 3¢ S+1  #A 130 810 170| 58 69 44 S+2 +6 680 85.0 13.0
25 23 4e V-1 ¢ A 50 62.0 36.0| 89 24 4¢ S= *A 130 81.0 17.0| 91 21 44 S+2 +A 680 85.0 13.0
26 54 44 O-1 +3 50 62.0 36.0| 3 77 34 S= *A 110 69.0 29.0| 95 46 44 S+2  ¢A 680 85.0 13.0
28 100 4e V-1 vJ] 50 62.0 360 9 5 3¢ S= +8 110 69.0 29.0| 2 39 44 S+1 ¢A 650 55.0 43.0
32 81 3NO-1 *T 50 62.0 36.0| 30 70 3¢ S= *A 110 69.0 29.0| 3 77 44 S+1 ¢+ A 650 55.0 43.0
41 56 44 V-1 vJ] 50 62.0 36.0| 37 84 34 S= *A 110 69.0 29.0| 4 97 44 S+1  ¢A 650 55.0 43.0
44 13 44 O-1 v7 50 62.0 36.0| 51 98 3¢ S= &K 110 69.0 29.0| 10 15 44 S+1  ¢A 650 55.0 43.0
47 42 44 O-1 *T 50 62.0 36.0| 87 71 3¢ S= *A 110 69.0 29.0| 11 76 44 S+1  ¢A 650 55.0 43.0
60 12 4e4 V-1 v] 50 62.0 36.0| 25 23 4v O-1 ¢+ K 100 59.0 39.0| 14 18 44 S+1 ¢A 650 55.0 43.0
66 27 44 O-1 v4 50 62.0 36.0| 44 13 5v O-1 ¢ A 100 59.0 39.0| 30 70 44 S+1 +A 650 55.0 43.0
67 48 4e V-1 vJ] 50 62.0 36.0| 63 59 4v O-1 ¢ A 100 59.0 39.0| 33 36 44 S+1 ¢A 650 55.0 43.0
78 90 44 V-1 v] 50 62.0 36.0| 72 38 5& V-1 45 100 59.0 39.0| 47 42 44 S+1  ¢A 650 55.0 43.0
79 49 4e V-1 8 50 62.0 36.0| 17 64 4¢ S-1 SA -50 49.0 49.0| 53 57 44 S+1 ¢A 650 55.0 43.0
82 22 44 O-1 oT 50 62.0 36.0| 47 42 4¢ S-1 *A -50 49.0 49.0| 60 12 44 S+1 +A 650 55.0 43.0
93 29 44 0O-1 v7 50 62.0 36.0| 61 75 44 S-1 *A -50 49.0 49.0| 61 75 44 S+1  +A 650 55.0 43.0
94 35 4v O-1 *T 50 62.0 36.0| 62 40 34 S-1 SA -50 49.0 49.0| 65 20 44 S+1 +A 650 55.0 43.0
95 46 4e V-1 48 50 62.0 36.0| 67 48 5¢ S-1 *A -50 49.0 49.0| 72 38 44 S+1 ¢K 650 55.0 43.0
99 8 4e V-1 vJ] 50 62.0 36.0| 94 35 44 S-1 *A -50 49.0 49.0| 73 88 44 S+1 ¢K 650 55.0 43.0
91 21 24 V= &2 -110 420560 2 39 3NN-2 &2 -100 37.061.0( 87 71 44 S+1 ¢A 650 55.0 43.0
83 85 3vO= *T -140 40.0 58.0 [ 28 100 3NN -2 &2 -100 37.0 61.0[ 89 24 44 S+1 +A 650 55.0 43.0
33 36 24 V+2 v -170 37.0 61.0[ 32 81 5¢DS-1 #A -100 37.0 61.0[ 99 8 44 S+1 +A 650 55.0 43.0
87 71 24 V+2 48 -170 37.061.0[ 65 20 54DS-1 &K -100 37.0 61.0( 6 45 44 S= ¢+ K 620 31.0 67.0
52 43 3NO= v8 400 34.0 640 91 21 5¢DS-1 #A -100 37.0 61.0( 41 56 44 S= ¢ A 620 31.0 67.0
4 97 44 V= &2 -420 20.0 78.0[ 92 96 5¢DS-1 &K -100 37.0 61.0( 44 13 44 S= ¢ A 620 31.0 67.0
10 15 44 O= *T -420 20.0 78.0( 93 29 34 V= 45 -110 30.0 68.0 63 59 44 S= *A 620 31.0 67.0
14 18 44 V= ¢ A -420 20.0 780 11 76 3&#V+1l 3 -130 27.0 71.0| 67 48 44 S= ¢ A 620 31.0 67.0
16 34 44 O= v7 -420 20.0 780 26 54 2&V+2 a5 -130 27.0 71.0[ 79 49 44 S= ¢ A 620 31.0 67.0
37 84 44 O= *T -420 20.0 780 60 12 3vy O+1 +A -170 24.0 740 78 90 24DV -2 48 500 24.0 74.0
50 74 4e V= ¢+ A -420 20.0 78.0[ 10 15 3v O+2 ¢A -200 22.0 76.0| 62 40 2¢DV-1 &3 200 21.0 77.0
51 98 44 O= *T -420 20.0 780 6 45 5¢DS-2 &K -300 17.0 81.0 94 35 34 S+2 +A 200 21.0 77.0
53 57 4e V= vJ] -420 20.0 780 52 43 5¢DS-2 42 -300 17.0 81.0( 17 64 44 S-1 *A -100 10.0 88.0
55 68 44 O= *T -420 20.0 78.0| 53 57 5¢DS-2 #A -300 17.0 81.0[ 26 54 64 S-1 ¢ A -100 10.0 88.0
62 40 44 O= *T -420 20.0 78.0[ 99 8 5¢DS-2 #A -300 17.0 81.0( 31 7 64 S-1 ¢ A -100 10.0 88.0
63 59 4e V= vJ] -420 20.0 780 58 69 4y O = *A -620 9.0 89.0| 32 81 64 S-1 *A -100 10.0 88.0
65 20 4e V= vJ] -420 20.0 780 66 27 4y O= ¢ A -620 9.0 89.0| 37 84 64 S-1 ¢ A -100 10.0 88.0
73 88 4v V= vJ] -420 20.0 78.0( 79 49 4v V= ¢ A -620 9.0 89.0| 66 27 64 S-1 ¢ A -100 10.0 88.0
9 5 3NO+1 T -430 6.0 920| 83 85 4v O= ¢+ K -620 9.0 89.0| 82 22 64 S-1 *A -100 10.0 88.0
2 39 44 O+1 w7 -450 20 96.0| 41 56 44DO= 45 -710 4.094.0( 83 85 6v S-1 a2 -100 10.0 88.0
58 69 44 O+1 w7 -450 2096.0| 31 7 4vDO= +A -790 1.0 97.0( 93 29 64 S-1 +Q -100 10.0 88.0
89 24 44 O+1 oT -450 2.0 96.0| 95 46 4vDV= ¢A -790 1.097.0| 55 68 64 N-2 ¢+ K -200 0.0 98.0

Svenska Bridgeforbundet, Silver 7 GH Par 2022-08-04, sida 11 av 12




40 49643 Basta kontrakt 41 & E98542 Basta kontrakt 42 4 DKn10852 Basta kontrakt
Vast v Kn73 3NT V =-400 Nord v K10 5v O =-650 Ost vE2 5v SD-1-200
Ingen + Kn53 ov + Kn5 Alla *K
#Kn108 & ¢ v & NT K106 & ¢ v & NT #Kn965 & ¢ v & NT
4 K8 «E105 N6 467 4 aDKNn6 &7 N4 426 3 & E43 « K96 N 4 2 106 6
vE102 v986 S 64674 v 86432 vEDKN9 S 4426 3 v- v 753 S 4 2 106 6
¢ K9642 ¢ ED107 O797609 + D62 ¢ EK97 O9 9 117 10 +D9852 ¢EKn1073 0O 8 112 6 3
732 &E96 V7978¢69 &ED &#Kn753 V9 9 117 10 &#D10742 %83 V 8 112 6 3
& DKn72 4 K103 a7
v KD54 v75 v KDKn109864
+8 + 10843 ¢+ 64
#KD54 #9842 SEK
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
90 62 24 N= v9 110 98.0 00| 64 8 5vV-1 s A 100 97.0 10| 34 59 5vDS= 2 850 98.0 0.0
35 75 44 O-1 «Q 50 929 51| 97 47 5v V-1 s A 100 97.0 1.0| 53 83 4v S+2 &2 680 959 21
55 30 4¢ O-1 «Q 50 929 51| 13 40 44 N-3 *A -150 939 4.1 1 27 5v S= +8 650 62.3 35.7
63 72 4¢ O-1 «Q 50 929 51| 92 70 44 N-4 a7 -200 919 6.1 4 51 4v S+1 &2 650 62.3 35.7
66 38 3NO-1 «Q 50 929 51| 11 65 2vV+4 s A -230 89.8 8.2 9 94 5vS= »2 650 62.3 35.7
1 27 24 N-1 +6 -50 84.7 13.3| 14 85 44DN-3 ¢A -500 84.7 13.3| 11 65 4v S+1 &2 650 62.3 35.7
28 48 34 N-1 a5 -50 84.7 13.3| 53 83 44DN-3 +¢A -500 84.7 13.3| 13 40 4v S+1 &5 650 62.3 35.7
89 69 34 N-1 A 50 84.7 13.3| 91 3 44DN-3 ¢A -500 84.7 13.3| 16 56 4v S+1 &2 650 62.3 35.7
92 70 34 N-1 *A -50 84.7 13.3|100 46 44DN-3 +¢A -500 84.7 13.3| 18 60 5v S= *2 650 62.3 35.7
37 5 34 N-2 A -100 79.6 18.4| 17 57 4v O= &2 -620 745 235| 23 67 4v S+1 +8 650 62.3 35.7
11 65 3¢ O= «Q -110 70.4 27.6| 18 60 4v V= s A -620 745 235| 25 88 5v S= A 650 62.3 35.7
13 40 3¢ O= «Q -110 704 276 32 2 4v V= & A -620 745 235| 26 61 5v S= *2 650 62.3 35.7
25 88 3¢ O= +8 -110 704 27.6| 37 5 4v V= s A -620 745 235| 32 2 4v S+1 &4 650 62.3 35.7
26 61 3¢ O= «Q -110 70.4 27.6| 63 72 4v V= LY- -620 745 235| 35 75 4v S+1 »2 650 62.3 35.7
64 8 3¢ O= «Q -110 70.4 276 80 22 4v V= & A -620 74.5235| 36 10 4v S+1 &2 650 62.3 35.7
68 87 3¢ O= &K -110 70.4 27.6 1 27 5vV= s A -650 38.859.2| 37 5 4v S+1 *2 650 62.3 35.7
86 77 3¢ O= «Q -110 70.4 27.6 4 51 4v V+1 *J -650 38.8 59.2| 39 29 4v S+1 +8 650 62.3 35.7
98 42 3¢ O= &K -110 70.4 27.6 9 94 4v V+1 A -650 38.859.2( 44 84 4v S+1 A 650 62.3 35.7
41 49 3¢ O+1 42 -130 59.2 38.8| 16 56 4v V+1 *J -650 38.859.2| 64 8 4v S+1 *2 650 62.3 35.7
73 20 4¢ O= +8 -130 59.2 38.8| 19 71 4v V+1 LY- -650 38.8 59.2| 73 20 4v S+1 *2 650 62.3 35.7
97 47 2¢ O+2 &K -130 59.2 38.8| 23 67 4v V+1 A -650 38.859.2| 78 31 4v S+1 *2 650 62.3 35.7
14 85 2NO+1 46 -150 53.1 449 24 54 5v V= ¢J -650 38.8 59.2| 79 58 4v S+1 s A 650 62.3 35.7
24 54 1INV +2 a3 -150 53.1 449| 28 48 5v V= LY- -650 38.8 59.2| 80 22 4v S+1 *2 650 62.3 35.7
96 12 INO+2 vK -150 53.1 449 33 15 4v V+1 A -650 38.859.2| 81 52 4v S+1 +5 650 62.3 35.7
34 59 2N O +2 a3 -180 47.0 51.0| 34 59 4v O+1 *J -650 38.8 59.2| 82 74 4v S+1 &2 650 62.3 35.7
39 29 INO+3 vK -180 47.0 51.0| 36 10 5v V= LY- -650 38.8 59.2| 86 77 4v S+1 +8 650 62.3 35.7
44 84 1INV +3 a3 -180 47.051.0( 39 29 5v V= s A -650 38.8 59.2| 89 69 4v S+1 +8 650 62.3 35.7
23 67 2N O+3 a7 -210 429 55.1| 41 49 4v V+1 *J -650 38.859.2| 91 3 4v S+1 *2 650 62.3 35.7
16 56 3NO= vK -400 28.6 69.4| 44 84 4v O+1 43 -650 38.8 59.2| 92 70 4v S+1 »2 650 62.3 35.7
17 57 3NO= &K -400 28.6 69.4| 55 30 4v V+1 A -650 38.8 59.2| 93 43 4v S+1 &2 650 62.3 35.7
18 60 3NO= vK -400 28.6 69.4| 66 38 4v V+1 s A -650 38.8 59.2| 96 12 5v S= +6 650 62.3 35.7
19 71 3NV= Y| -400 28.6 69.4| 68 87 4v V+1 *J -650 38.8 59.2| 98 42 4v S+1 +5 650 62.3 35.7
32 2 3NV= LY -400 28.6 69.4| 73 20 4v V+1 *J -650 38.8 59.2| 99 45 4v S+1 +5 650 62.3 35.7
36 10 3NO= «Q -400 28.6 69.4| 76 50 4v V+1 s A -650 38.8 59.2 (100 46 4v S+1 &2 650 62.3 35.7
53 83 3NO= «Q -400 28.6 69.4| 78 31 4v V+1 LY- -650 38.8 59.2| 14 85 4v S= »2 620 255 72.5
79 58 3NO= «Q -400 28.6 69.4| 81 52 4v V+1 s A -650 38.8 59.2( 17 57 4v S= &2 620 255 725
80 22 3NV= 46 400 28.6 69.4| 82 74 4v O+1 43 -650 38.8 59.2| 24 54 4v S= *2 620 255 72.5
81 52 3NV= v3 -400 28.6 69.4| 86 77 4v V+1 LY- -650 38.8 59.2| 63 72 4v S= »2 620 255 72.5
91 3 3NO= vQ -400 28.6 69.4| 89 69 5v O= &K -650 38.8 59.2( 97 47 5¢DO-1 &7 200 20.4 77.6
93 43 3NO= v4 -400 28.6 69.4| 90 62 4v V+1 s A -650 38.859.2| 19 71 6v S-1 &2 -100 16.3 81.7
99 45 3NO= «Q -400 28.6 69.4| 93 43 5v V= LY- -650 38.8 59.2| 41 49 6v S-1 +5 -100 16.3 81.7
9 94 3NO+1 a2 -430 8.2 89.8| 96 12 4v V+1 *J -650 38.8 59.2| 90 62 6v S-1 *2 -100 16.3 81.7
21 6 3NO+1 +3 -430 8.2 89.8| 98 42 5v V= s A -650 38.8 59.2| 33 15 54 S-3 *2 -300 12.3 85.7
33 15 3NO+1 a2 -430 8.2 89.8| 99 45 4v O+1 43 -650 38.8 59.2| 28 48 54 N-4 A -400 10.2 87.8
76 50 3NO+1 a2 -430 8.2 89.8| 26 61 4v V+2 +6 -680 6.1 91921 6 54DV=©vA -750 5.1 929
78 31 3NO+1 vK -430 8.2898| 35 75 5v V+1 s A -680 6.1 91.9| 55 30 5¢DO= 46 -750 5.1 929
82 74 3NO+1 vK -430 8.2 89.8| 79 58 4v V+2 LY- -680 6.1 91.9| 68 87 54DO= a7 -750 5.1 929
100 46 3NO +1 v4 -430 8.2898| 21 6 44DN-4 +A -800 1.0 97.0( 76 50 5¢DO= &7 -750 5.1 929
4 51 3NO+2 v5 -460 0.0 98.0| 25 88 44DN-4 ¢K -800 1.0 97.0| 66 38 64aDN-4 &5 -1100 0.0 98.0
95 7 A-/A- 39.2 39.2| 95 7 A-/A- 392 39.2| 95 7 A-/A- 39.2 39.2
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